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Unit Six Grammar Modals and related Verbs

dwalud! Bu>gll uslgd

Usage

Modal Related Verbs

Jogall Jad plaswd! Jaalb dad el JadY

- Modals of Obligation and necessity LAV 9 839

->must to talk about what is right or necessary. ->be required to Ol die Callay
(et st on 3b o) 59 5) o 98 s el | S obliged to Je e

uasei 8,58 8,Sal o Jun) Feally ssasell Gt MUSE & U

e A good lifeguard must be an excellent swimmer.
eYour friend really must study harder. dusaseds 5,50
(this is my idea — | want him to do it)

>haveto g
->hasto 2
-had to o=k
->have got to

to indicate that the obligation is from

somebody else or from outside.

U plAVN) sl e 5l 53T pased oo b LAY OF ) 8)la
(U3 (3 )l d) ) 9 Jadll (de pomo asiadl / zylsd]

- refer to an ‘outside authority’
that gives orders or sets rules:
vasidl ) auasy @l gelsdll gl yelgdl e pas
az)s dlabes (g0

eHe was required to get proper
qualifications.
e\We are obliged to come to
school on time.

:L?mjdla_éwoia&n (be) Jladl JIadpl **
IS —are — am —was — were -be

e| had to wear

braces for two years.

eYou will have to keep this a secret.

- need to

eHe needs to be courageous.

-> Modals of Duty and advice

douaill 9 crlgl 3agall Jladl

-should  ->shouldn't | to give our opinion or advice.

->oughtto -»oughtn’'t to

Aseadl 9l ST (e pald

->be supposed

to to talk about what should/shouldn’t happen according to rules or

according to what is generally expected:

Animals are not supposed to suffer like this.

-> Modals of No Obligation

89 sl ue gl AN pus Jladl

->don’t have to to mean ‘it isn’t necessary’. ot b)) 839 > s (aa) JLxdY 0 ¢y (81 pins

S doesn’t have to | ® He doesn’t have to work today.

- needn't

e Pupils don’t need to/needn’t do this.

- don’t need to

->not required

to

->not obliged to

e Human divers are not required to do the job.
e Actors are not obliged to be glamorous.

-> Modals of Ability

Byl e A1 59001 Jladl

->can ->can’t vV to describe ability or lack of ability.

->could 2>couldn’t

-be able to

able to.

->managed to

Lo gl Jad e 8yudll ps gf Byddll e peaidl
vto describe the completion of a specific action in the past, we use be

(was able to / were able to V.1 ) eusis olall § onre o> JiS| o) -

-succeeded In

V.ing

vIn negative sentences both be able to and could are possible:
could swas / were able t0 ;o 5 plasoil joam &diall Jazd) § -

(NOT could) phone.

e Hamzah wasn’t able to/couldn’t visit us last week, but he was able to

e The police managed to find the child in time.
eHe succeeded in persuading her to help.




-> Modals of Permission lo (o Jos -lowad! / O3 sllas 3og0)l Jladh

->can ->can’t to ask for and give permission. Lo o Jod) 03V slac] o 03V lkal
Scould > couldn’t | ®*Can/Could | ask you a question?
Sbe allowed el couldn’t stay out late when | was younger.

>be permitted to e\Why has pollution of the beach been allowed?
e\\/e are permitted to enter the lab.

-> Modals of Prohibition Rl 9 gl Jagell Jladi
->mustn't to say that something is not permitted. Zome e o ot 0L Jgall
Scan't e People can’t park their cars here.

Scouldn't e Students are not allowed to go there.

Snot allowed to e \We were forbidden to use the Internet in the office.
- forbidden to

-> Modals of Possibility dlaisNl e DI 35 gall Jladl
->can » We use can to talk about things which are generally possible.

-could ple S Wad> oS @1 bl e pasl) CAN pussind
->might It can rain heavily in winter.

->be likely to T ST T
Sbe bound to » We use could/might to say that a specific thing is possibly true:

oo 0550 O Jaizall o (a9l 3dee 158 e sl COUND / Mgt pusows
There could/might be life on other planets.
» We use might to talk about an uncertain future intention:
oo 0550 0 Jaioeall (po (e 9l sz 1o o el COUND / Might susees
We might go for a meal later.
This film is likely to win a number of Oscars.
It’s a very difficult test. Some people are bound to (are sure to) fail this
test.
Work Book / Page ( 4) / Exercises ( 1-2-3-4-5) (0-£-Y-1-) ) slaidl (£ ) o / Sileid! LS
1. Match the underlined modal verbs in sentences 1-5 with their functions a—e.
(851> & Ay (pppail) Bl 03 ) gy o as Lgimnd (31 31a9a)l lad) Joo 5 3
1- You have to make your bed at a youth hostel.
- The function of the underlined modal verb in the sentence above is..... .2 Jogell Jad daibg
a) necessity b) prohibition C) no necessity d) duty
2- You must not take room keys out of the hotel.
- The function of the underlined modal verb in the sentence above is..... .2 Jogell Jad &by

a) necessity b) prohibition C) N0 necessity d) duty

3- I could swim like a fish at the age of four.

- The function of the underlined modal verb in the sentence above is..... .. »Jogell Jad didsg
a) necessity b) prohibition c) ability d) duty

4- If there’s a fire, you must use the stairs, not the lift.

- The function of the underlined modal verb in the sentence above is..... .. »Jogell Jad didsg
a) necessity b) prohibition C) No necessity d) duty

5- You don’t have to switch on the light — it’s automatic.

- The function of the underlined modal verb in the sentence above is..... .2 Jsgel Jad daby
a) necessity b) prohibition C) No necessity d) duty

Answers:1)c2)b3)ed)ab)d




2. Choose the correct forms to complete the sentences. Jozml JLSY doesall Bl jis

1- We only moved in a week ago and we’ve already ------------- to get to know the neighbours.
Ozl e GByaill ooemeeeeeee Jaddl Gl w39 gl Jid gl L) )
a) managed b) forbidden C) required d) permitted
2- Only local residents are ------------- to park in the streets here.
U3 PN U200 [Fp—— el OB Laid
a) managed b) forbidden C) required d) permitted
3- You are ------------- to sort your recycling carefully.
Al poatl) Saley Ablall bl Caxiuaty pgas Of-mmmmmmmmmmee o
a) managed b) allowed C) required d) supposed
4- The city has ------------- in reducing the traffic significantly.
Sliae S ©9pall oI (o JudBl (§ -ommmemeeee Al
a) succeeded b) forbidden c) obliged d) permitted
5- Glass is strictly ------------- in the swimming pool area.
d>ludl &S dilaie 3 - =
a) managed b) forbidden C) required d) permitted

Answers : 1 managed 2 permitted 3 supposed 4 succeeded 5 forbidden
3. Rewrite the sentences so that they have the opposite meaning. .ase) (oS  Jass oz ol &S sl
1- We have to arrive exactly on time.
a) We don't have to arrive exactly on time. c) We couldn't to arrive exactly on time.
b) We doesn't have to arrive exactly on time.  d) We mightn't to arrive exactly on time.
2- You mustn’t wear jeans in the restaurant.
a) You mustn’t wear jeans in the restaurant. ¢) You may wear jeans in the restaurant.

b) You can't wear jeans in the restaurant. d) You might wear jeans in the restaurant.
3- Customers may park here.

a) Customers may park here. ¢) Customers mustn't park here.

b) Customers may not park here. d) Customers mightn't park here.
4- 1 couldn’t find my glasses.

a) | was able to find my glasses. ¢) I mustn't find my glasses.

b) I can’t find my glasses. d) I mightn’t find my glasses.
Answers:

1) We don’t have to arrive exactly on time. 2) You can/may/are allowed to wear jeans in the restaurant.
3) Customers may not/can’t/mustn’t/are not allowed to/are not permitted to park here.
4) | was able to/managed to find my glasses.

4. Choose the correct words a—c to complete the text. 0l JLSY douall LY s
There are some things you @ ---------- know before visiting Thailand. Thai people are more
laid back than the average tourist, so you @ -------- lose your temper and you @ ------- raise
your voice at anyone in public. Thai people never point the soles of their feet at anyone or
anything, so you ®--------- never sit with your feet up on a table, for example. Finally,
remember that it is &--------- to touch any exhibit in historical museums.

1 a)oughtto b) don’t have to c) are able to

2 a)couldn’t b) mustn’t c) don’t have

3 a)could b) couldn’t c) shouldn’t

4 a)haveto b) should c) could

5 a)permitted b) forbidden c) obliged

Answers:1a2b3c4b5b




5. Complete the sentences with the correct forms of be able to or have to.

1- Unfortunately, we ------------------ see the new flat because they’d lost the key.

a) isn’t able to b) aren’t able to c) wasn’t able to d) weren’t able to
2- Good news! Grandma ------------------ come next weekend.

a) will be able to b) aren’t able to ¢) wasn’t able to d) weren’t able to
3- We -----m-mmmmmmee- pay for the garage; it was for free.

a) don't have to b) doesn't have to c) didn't have to d) wasn't able to
4- Don’t worry! You ------------------ book the tickets. I’ll take care of everything.

a) don’t have to b) won't have to c) doesn’t have to d) isn’t able to

Answers: 1 weren't able to 2 will be able to 3 didn’t have to 4 don’t/won’t have to

Work Book / Page (5) / Exercises ( 6-7-8-9) (1-N=V=T) el {0) 0/ kel SLS
6 . Complete the mini-conversations with the forms in bold. 3ol OLlSIL lg=edl eS|
HAVE TO/OUGHT TO/MUSTN'T / BE ABLE TO

Amina: | © mustn't forget to collect that parcel from the post office today.
Dana: You ®------------ write yourself a note.

Amina: Would you &------------ do it, Dana? You’re nothing like as busy as me.
Dana: Well, | suppose so, if | @®------------ .

- pol il CiSe oo dylall @lld maz (ol Y OF Gy 1ol
. Aasdle Wdid (iS5 of elde o 1Ll
. o Dgidien od ol Ul (3 s o SliSiay o el
) - Jadles S 13) 3 wnel G Bl
ALLOWED TO/MUST / REQUIRED TO / MAY
Kareem: Am | ®------------ pay a deposit before I move in to my room?
Manager: Yes, all students ®------------ pay two months’ rent in advance.
Kareem: And @------------ | pay that with a credit card?

Manager: No, sorry. I’'m only (8)------------ accept cash or a bank transfer.
Cadt J) Jast of Jd dmsgll s of Yo com o t@)S
Jodie opyg sl a8 Ol gz e Com ¢ el
TOlaas! d8law C3 ads (2Say J29 f02,S
il Jogoe5 of dal JdT Jagd BT il Y £kl
HAVEN'T BEEN ABLE TO / SUPPOSED TO / COULDN'T / SUCCEEDED IN
Ali: You were ® -------—--- video call me, Issa. What happened?
Issa: | (©----------- find your details, Ali. Didn’t you see my email?
Ali: | @--mmammmmm- log on since yesterday. Something’s wrong.

Issa: Sometimes, | think technology has only @----------- making life more complicated!
T 13l . qune (il pe g Jbadl cuSt e
TA9ASIY S 5 ol Ao o il e ygiall oo oSl o) BT i qune
b s Hls Ao ll die Je3l Jeomad (30 oS3l o) B2 e
il fST 8Ll Clazr Lr gl 93 O el Bl & qune
Answers:
1 mustn't 2 ought to 3 be able to
4 have to
5 required to 6 must
7 may 8 allowed to
9 supposed to 10 couldn’t
11 haven’t been able to
12 succeeded in




7. Complete the second sentence using the word in bold so that it means the same as the

first one. Use between two and five words, including the word in bold.

1 You should recycle your rubbish. SUPPOSED
YOU -----mmmmmmmmmmmm oo your rubbish.

2 | was able to pick up the language quickly. SUCCEEDED
| -ommmmm the language quickly.

3 In the UK, it isn’t necessary to carry an ID card. REQUIRED
Y QU-------==-mmmmm oo an ID card in the UK.

4 How many bags can | take on the aeroplane? ALLOWED
How many bags ---------------- on the aeroplane?

Answers : 1 are supposed to 2 succeeded in picking up 3 are not required to carry 4 am | allowed to take

8. Complete the notice with one word in each gap. 1y US) Bl Al dasDlall S|
HOSTEL RULES

For your safety and comfort here are a few guidelines we ask you to follow.

1 Only paying guests are allowed in the hostel.

2 Use of portable audio speakers is completely -------------- throughout the hostel.
3 All guests are --------------- to keep noise to a minimum after 10 p.m.

4 Guests ------------ leave all areas clean and tidy after use. No exceptions!

5 Animals are not ------------- in the hostel.

6 Guests------------ leave food behind when they check out of the hostel.

(3Ll ) J aclgd
el e cdlas (a1 wlalindl G eld) celiodwg ey
A L g3l sl 19283 (ol gl 1ok el )
JA bl auaz (3 U gasall Cguall WIS pldsuind el -
Elae Ve deladl day GV asl ) sbs gl Sgine e blasdl Gguall puaxr e con
JAI 3 e zanwa & Slgell
JA 0 29y Jumd die wgtls alaball 45 aue Gguall e o
Answers: 2 forbidden 3 required/obliged 4 must 5 permitted/allowed 6 mustn’t

R N e S

Work Book / Page (10 ) / Exercises ( 3-5) (0-F sl ). o/ nleid] S
3. Choose two correct options to complete the sentences.

1 We have to / mustn’t / ought to call the plumber. | can’t fix this leaking pipe myself.
2 Luckily, I could / was able to / managed to make new friends quickly at university.

3 You needn’t | don’t have t0 | can’t repair the flat tyre today. We can do it tomorrow.,
4 The shop isn’t obliged to | mustn’t | doesn’t have to remove the scratches from your
smartphone screen free of charge, but you can ask.

5 You are not allowed to / not permitted to / not obliged to work unless you have a visa.
6 People driving a car are required to / are able to / should carry a driving licence.
Answers

1) have to / ought to

2) was able to/managed to

3) needn’t/don’t have to

4) isn’t obliged to/doesn’t have to

5) not allowed to/not permitted to

6) are required to/should




5. Complete the second sentence using the word in bold so that it means the same as the

first one. Use no more than five words, including the word in bold.
AoISII 3 3 Loy ¢ 9Bl uxS Lol e pusti! - JoVI docell dre i (Jasl Cusn $olidb Bimend! delSUI pluseiuwl A3WI dhosd! JoST

3oL Bnenll
1) It’s a lot colder in England in winter than in Jordan. SIGNIFICANTLY
—————————————————————————————— In winter than it is in Jordan.
2) | managed to find somewhere to study German as soon as | arrived. ABLE
————————————————————————— somewhere to study German as soon as | arrived.
3) You’re allowed to ride a bike on local roads. PERMITTED
Bike riders--------------------o---- on local roads.
4) In Spain, you should eat an orange with a knife and fork. SUPPOSED
In Spain, -------------=-------- an orange with a knife and fork.
5) I think Maths is slightly more difficult than Physics. MARGINALLY
| think PhySICS ------==-==mmmm e :
6) How many bags can | take on the plane? ALLOWED
How many bags ---------------- on the plane?
7) 1 was able to pick up the language quickly. SUCCEEDED
----------------------------- the language quickly.
8) In the UK, it isn’t necessary to carry an ID card. REQUIRED
Y QU-----=--mmmmmmm oo oo an ID card in the UK.
Answers
1 It’s significantly colder in England 2 | was able to find 3 are permitted to ride
4 you’re supposed to eat 5 is marginally easier than Maths
6 am | allowed to take
7 | succeeded in picking up 8 are not required to carry
Student Book / Page (4) / EX. (3) (1) sl €) 0/ bchill LS
3. Complete the table with the modal verbs. sliall Jgall Jads JUII Jguond! JuS|

be able to - can - can’t - could - couldn’t - don’t have to - have to - may - must - mustn’t
- need to - meedn’t - ought to - should - shouldn’t

Necessity need to - have to - must
not necessity don’t have to - needn’t
Prohibition mustn’t
Duty and advice need to- ought to — should — shouldn't
Ability / Lack of ability be able to - can - can’t - could - couldn’t
Permission may
Student Book / Page (5)/EX. (4-5-6) ((1=0—£) il 0) 0/ éclid)l LS
4. Complete these extracts from the recording with the words from the box. Listen and
check. LBgiuall oo SLalSIL Juzmadl o SN Gl eS|
| allowed — forbidden — managed — obliged - permitted — required - succeeded
1) I’'ve ------------- to settle in pretty well.
2) 've---------- in making quite a few friends.
3) Even my younger brother, who’s only 15, is------------- to stay out until eleven or later.
4) Obviously, we’re ------------ to have an adult with us.
5) It’s ------------ to chew gum.
6) At home, I’'m not ------------- to stay out after 10 p.m.

Answers : 1 managed 2 succeeded 3 allowed 4 required 5 forbidden 6 permitted

7




5. Study Watch Out! Then choose the best option to complete the sentences. Sometimes
both options are correct.

1) Alia could / was able to pass her driving test.

2) Huda could / was able to speak four languages.

3) My cousin didn’t want to move to Germany at first, but his parents could / managed to
persuade him.

4) How did you manage to / could you stay so slim when living at your grandma’s? She’s
an excellent cook!

5) I somehow managed to / could make him believe me.

ST WATCH OUT!
i\é\??f;obdentlg nza;gl::;?’ C"ggf’d&&'}itg ;;?]Zgz%egjto * For ability on a specific occasion, we use be
__________________________________________________ able/managed to (NOT could), e.g.

My parents were able to/managed to find a nice
apartment. NOT My parents could find a nice
apartment.

!wj{}l

o "be able" pastiud cdpms dlie § BB o5 il o
:JUd Jw (A ¢("could" wd9) "managed to"

Olagdaiw Sy OB™ Gy b did e Hgiall o SIWIg Se3

Mo Ak e jghall
6. Complete the text with the words and phrases from the box. Sometimes more than one
answer is possible. oo 0955 W3 Dl (e AST Bl . Gauuall o OLaSIL Laid! JaST
| don’t have to (x2) | forbidden | obliged | shouldn’t/mustn’t | will have to |

Things you should know before moving to Sweden
The environment

Swedes are really green. Littering is (D---------- everywhere, and if you’re caught dropping
even the tiniest bit, you @-------- pay a fine. You are also ®---------- by law to sort out your
recycling.

Social etiquette

Don’t expect Swedes to be chatty. They don’t talk to you if they (®---------- . Punctuality is
important though. You ® ---------- turn up late or early. In some other ways they’re quite
informal: at school, you ®----------- call your teacher Professor or Mr or Mrs as they prefer

to be called by their first names.
Wl J) JEBYI 4 Lgdya5 OF s el

|

-------- Y Ggud cdolod dalad yiol g (A5 cily elide (bl 031319 e S (§ -mmmmm- ) daloddl sa)] . dndl Tor Ogaigy O godgand]
o9l Al eliblas 5,80 0 gla)l gy —-mmmmmmm Y bl LS oyt 285

S gkl oilal

Tt s -ommemmn 0 .pgn eslgally LAY OB (3 aag . omeneen €15 ] gy Y o ol GAIS Ogaigend 055 O gB935 Y
G "B 91 " 91 "l 5 Sladan 815k <mmeeennna- T eliSey cduydall (3 1o > Ul oy a8 02«83 Cilgll s (8 1S o

9V peilawls 19013 OF Oyl
Answers : 1 forbidden 2 will have to 3 obliged 4 don’t have to 5 shouldn’t/mustn’t 6 don’t have to




[ Unit Six Grammar Articles (a—an—the) il dwdlud! Bu>oll

Indefinite Articles A @lga

a an

) oSl By T Sl dgurall 3yaall pudl B puscind P9 (Lymie ) de Bymm T S sguanll 50001 @l Jd paseind
((cwlo (a—0—e-u-i)

e gaze 5o 23> 0950 9 ¢ Bye U9V il (e Gd bedie (@ —an ) pusuind WS -
pusd 9- (@ —an) .o 1o 81 e peiall Bym Y ladis

a job —aboy—acar—apen |anapple—an orange —an elephant

D AW ol 4l **
a university - a uniform —an hour

Definite Article iyl Bl

AU oYL (§ the Cayaddl Blol ausis

A1 8,0l 0,53 @iy I @l J3 O
I’m reading a really good article. The article talks about ...

(Jasd axly a2 lgie dzge Y @l slowed ) g5 (o Byl 5l 8511 clowsdl g0 O
Half of the population live in the capital.
Sy sl
The Sun — The Earth — The Moon — The Sky — The capital city

201 el ATy yne 555 (1 LI Jb Lyl 3131 pasras O
The head of
My grandmother is still the head of the family.

(most — least ) Ji3 s (ESt) -» s @I Sl lio Jid Cinyatl Blal piias ©
The largest city in Jordan is ........

)l (e Loy dodoniy 095 Lokie dylall e b Csyall 8131 s ©
| have two sisters. The older sister lives in Egypt.

first , second , third , forth , ...th (» 9 4i slaedl Jd Capatdl Blal pusins ©)
The first time | went there was in 2018.

CENLUIEs 0gydll s ( s Loy dasiy Ul il 03y ) deCades  sgaall Jub Cisyatdl 81l pasend O
in the 1950s; in the 18th century.

islands 3=l 4e gazxo —mountain ranges adwd! Judlud! - river gVl - Sea Hlowd! slowsl 8 Cavyasd) Blsl puseind ®
Oceans wlaoxall clow

The Red Sea — The Nile river — The Pacific Ocean — The Canary

united — union — kingdom — republic 401 S Je Ggio @ Ol slossl J Ciyall 3l psis B
(The USA — The UK — The KSA — The UAE ) Jie 0l o) ellassdl ol
The United Kingdom — The United State Of America

| saw my dad in the garden. : Jio in ydl By day Cayadl Bl pdseind ®

Zero Article BISI gy

.‘QLC L,S.&.u Gdt lodie B g9daell pe clowdl g &A.?L” ¢ low! oy 1l g=§‘ ‘au\zi.wd Y @
Life was very hard and over one million people emigrated.

! sy Led! O (950 3 SluaandaS oSWYI e J5 21 slasedl g Bl 51 pusius ¥ O
( prison — school — hospital — college )
go to school every day. He’s been in hospital for two weeks now.

Syallg Ol 9 O] sloel pe Blal () pusind N ®
- My brother lives in Mafraq but he works in Amman for this year.




Student Book — Page ( 7)) — EX. (3-4-5) (0=£—=Y) il = (V) o — Il QS
3. Complete the rules 1-10 with a/an, the or no article (). Use the underlined examples in

the article to help. There is one extra sentence.  .cbiuslus) Dlaall § dieVl pisiusl 9 clsaYl plisiul delsd Ja|
1) We use --------- with the names of people, places and most countries.
2) We use --------- with singular countable nouns.
3) We use--------- with uncountable nouns.
4) We usually use--------- with seasons.
5) We use--------- with names of mountain ranges, oceans and rivers.
6) We use--------- before superlative adjectives
7) We use--------- with regions in the world.
8) We use--------- for something we have mentioned before.
9) We use--------- with groups of people.
10) We use--------- with specific jobs.
J9l elanng (SLYIg (olseadl slowsl ao --mmnemmv i ()
B3y2all Baguaall slowsl po —omommev i (Y
B394l e slowd &P —=mmmee- poSiud (Y
Jgsadl] gp --mmeemev Bale pusciud (£
._)L@-.;}’b QLb,goube dl.o:.” dwy.w ¢ laeol &p —mmmee- ‘QV\?L:.UJJ (O
EWWENT [ REHFI0N | Y e p— P (1
ol @ Gl go -ommeeev pusind (V
Bl 013,83 £(g8d —mmmmmee pSiud (A
.u.uUJ\ e QLC}A.?LA qR -mmmmmme- ﬁd::i.w.) (‘\
RXWCON /U IZN [P O —— P () -

4. Complete the article with a, the or no article (). In pairs, explain your choices.
Leaving home comforts to enjoy nature At the age of 16, Zaid Alkhayyat decided to give up his

home comforts and live alone in © ------- tent. At the time, he was @ ------- youngest student
doing a two-year course at the School of Adventure Studies on the Isle of Skye in ® -------
Scotland. ® ------- tent was in a remote part of ® ------- island and almost impossible to find
without ® ------- detailed directions. Every morning, he would get up at 6 a.m., wash in @-------
river, light @ ------- fire and drink ® ------- cup of tea before going to (9 ------- college. While
studying at the Adventure School, he also gave @ ------- lessons to (@ ------- conservation
experts about how to survive in (®------- wild.

Answers: 1 a2the 334 The5the 6 7the8a9a 104 110 120 13 the

5. Write sentences, adding a/an or the where necessary. L gVl pluseil 9 Joz (9SS
1) 1/ live /in/ flat / near / city centre / in/ Amman

2) | / have / dream / of climbing / Jabal Umm ad Dami

3) I / prefer / mountains / to / sea

4) 1 / once / went / to / hospital / for / operation

5) I live near / River Thames / which flows through / London
Answers

1 I live in a flat near the city centre in Amman.

2 | have a dream of climbing Jabal Umm ad Dami.

3 | prefer (the) mountains to the sea.

4 | once went to hospital for an operation.

5 I live near the River Thames which flows through London.




Work Book — Page (7)) — Ex. (1 —2-3 -4) (£=Y-Y-)) eed = (V) (e = cyledl QLS
1. Cross out the where it is NOT correct. Aoono 5SS o 131 oyl 811 Qdd & gkl
1) Have you ever been to the United Arab Emirates or the Egypt?

2) You should spend less on the clothes and more on the healthy food.

3) I love the hot drinks like the tea or the coffee.

4) If | could live anywhere, | would definitely choose the Amman.

5) The moon shone down on the Wadi Rum that night.

6) The Egyptian pyramids are a very popular tourist attraction.

7) The sea in the Caribbean is the bluest sea I’ve seen since I was in the Thailand.

8) The fastest way to get to Amman is to fly directly into the Queen Alia International Airport.
Answers
2 You should spend less on clothes and more on healthy food.  .lexs 8lal pusiud Y 8aguanll & clowdl 9 pazdl slowsdl

3 | love the hot drinks like tea or coffee. Agao 8ol pusciad Y Bagdanll s slowdl g mazell slawdl
4 1f I could live anywhere, | would definitely choose Amman. OBl slasol 9l Ol slosel ga Blal (S1 pusins Y
5 The moon shone down on Wadi Rum that night. OB slassl gl Odadl slowsl ao 8151 (51 pusiad Y
6 The Egyptian pyramids are a very popular tourist attraction.

7 The sea in the Caribbean is the bluest sea I’ve seen since I was in Thailand. 9! slowsl ao Blol (51 pdsiud Y
8 The fastest way to get to Amman is to fly directly into Queen Alia International airport. 815l (9 OB sl

2 \What do the underlined words refer to? Choose B for a building or | for an institution.
Ao 58 23 CIE 1N | By 9 Ay e A2 CSE 1N B Byo A1 § Jas giond 1 LS e 13k oy

1) Spending time in hospital is especially difficult for children. O
2) The hospital is an important landmark in our town. ®
3) Fadi always loved school. @
4) Ali walks past the school every day. O
5) Turn right when you see the gates of the university and the garage is on your left. O
6) Ali isn’t going to university now. ®
7) 1 went to the college next to the hospital. @)
8) My sister left college last year. O
9) Students go to college when they leave school. O

10) Hala’s father works near the college. @
3 568 L) oty pasadl 55 @3 131 9 ¢ g il pasadl OY Ao Ud 548 yatun S O8I Ul Gt dy pasead! OF 131 2> dogo doglas
Ao puseind Y duango 948 A iy paseidl (S0 @) 131 Lol the Cauyaill B1o) das pasuind (oS die Guis boie W g (aue pia Al ol

3151 s

Answers:1)12)B3)14)B5)B6)17)B8)19)110)B

3. Complete the signs and notices with a, an, the or @ (no article). owsliad ! BN pliswials oS

( 2
WELCOME TO *---- BELGUIM } """""""" STATUE OF LIBERTY IS
CLOSED FOR MAINTENANCE TODAY.

_

&

Answers:
2 The 3the 4 a 50
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4. Complete the telephone conversation with a, an, the or @ (no article). .dws 81591 slasinl LS|
Lama: Hi, Nour! I hear you’ve moved into @ a new flat. How is it?

Nour: Lama! It’s nice to hear from you. ®-------- flat is great. My room is a bit small,

but it’s only 400 JOD @-------- month, so I can’t complain, and I’'ve got (D--------- really nice

flatmates too. There’s Dana from ®------- SA and Muna from ®------- Dubai.

Lama: It sounds like a real international community you’ve got in your flat. Where exactly is
it?

Nour: It’s on @------- road, near ®------ university. Would you like to come round for ®----cup
of tea?

Lama: I’d love to. What number is it?
Answers: 2 The 3a4d 5 the 60 7 the 8the 9 a

Work Book — Page (10) — EX. (4) ((£) ol = (V- ) o = ol QLS
4. Complete the text with g (no article), a/an or the. wlindl 810Y1 pldsciunls LS|
Snapshots of My L.ife
BY FARID
Although some people in O------- Jordan live in flats, @------- lot of people prefer houses.
They tend to be more spacious and often have @------- garden. My uncle and aunt live in
®------- small house in ®------- country.
The view from ®------- top of @------- nearby cliffs over @------- sea is @---—---- most
amazing one I have ever seen! I’ve been to visit them four or five times (9------- year ever
since | can remember and we often drive to @ ------- mountains and go hiking. Now that I’'m
at @------- college, I can’t visit so often.

Next year, I'm going to study in (@------- USA at @------- Washington University, and after

that | want to travel round @®------- South America. But I know I’ll always come and visit my
aunt and uncle in their beautiful home near the sea.

Answers

1@ b aul

22 (Sl iy iy i
3adsuq)¥ingjma)éﬂeu\

Aa Sl Ciym il i

5the (<ill)4e 5i e 28 aud

6 the 4ldls s Cal2a aul

7 the (‘u);...al\ LL?\‘)JA..\AM)JAM(:M\
8 the =il 3l e&m)@\@
9the Juadidsia

10 CSbw iyms oy 3 sie o

11 the 4l Judlas

120 (Asmse) OSapud

13 the sasidl 4alS e (5 siny e and
14 @ A e il

150 OSa anl
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Unit Seven Grammar Reported Speech Jsiiall adsl) daylud! Bu>gll uslgd

Gkl © JudIIQ Sl O 1 (o 9 dansh) sbeded S g e 1Sl o ¢ 53T pasd LB dlax T J&5 wis *
Ul oWl I 2lll g (ool I golandl dual Jogons oy *
L) 9= Y ol golall dlex *

el Sde 3yde Cihe b | pex YOU = ,Sis 3,80 el / him = he
| ——>he she YOU = ose 300 ol / her > she Jebb
Me == him her YOU = gox ol / him = they
MY =——3 Nis her
we > they > byl 090 (you —your ) aesall Al (3 Lago
us > them (JE S s 3929001 @I ams ) ST s
our > their YOU = Sk 3,40 el / him > him
you Js=——=>3 he she they YOU -> 50 5,80 ol /| her = her 4 Jgnin
YOU 4 sxiemsy MM her them | You = gzl /them - them
your &Sl ——3y his her their Your = his Sis 520 >herciss a0 >theirge
Verb Jai BESNTES] QW gl EJBWI gl
V.1/V.1e® > V.2 - | had V.3 > |had V.3
doesn’t/ don’t V.1-> | didn’t V.1 - |hadn’t V.3 - |hadn’t V.3
didn’t V.1 - | hadn’t V.3 - |hadn’t V.3 = |hadn’t V.3
is—am - | was - | had been - | had been
are - | were —> | had been - | had been
has—have V.3 - |had V.3 - | had V.3 > | had V.3
has —have ! = |had - | had had - | had had
will (Il - | would ('d) - | would ('d) — | TR
can - | could - | could 2 Balaiciakaiaiale
shall - | should - | should — | AR
may - | might - | might > | Feeek
must - | had to / must - | had to / must = | AR
Adverb ol gl
yesterday - | the day before / the previous day
last ) - | the i« before / the previous ¢+
=2 ago -
tomorrow - | the following day / the coming day / the day after
next () - | the following ¢« / the coming ¢« /the <)) after
today - | that day
tonight - | that night
now - | then
here - | there
this - | that
these - | those
at the moment - | at that moment
AWl & )laall ol acud! £)laall 3 (say —tell ) Jadl Jasd o8 131 Aozl (§ £ ) it 95 Y 1 1 dago doglas
says — tells has said — has told
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Reporting Questions ALY o gail dalal) 5ac il
Wh- Questions

Wh- auxiliary J= Sub. Verb | Object Complement ?
e Lo
modal Jisedsd LNy
asked Sub. auxiliary Verb | Object Complement
wanted to know modal

D W sl oglall J1gadl Jogoss dis *
- gl s ozl § Jeldll o U3 gall Jad ol eluad! Jadll Juins ©
Al desdl Al I 1! Al 0 g Aazd! OY dlgdl § dais aa ©
* What is_he watching on TV now?
She asked me what he was watching on TV then.
J1gd! Lg SR o dogo collasdlo **
V.2 Jldead! § oyl Jadll gty pods o3 9 (d0ES — 0O ) sl Jodll Gl ooy gl i Logs O
* Where dees Ali work now?
She wanted to know where Ali worked then.
26 52l dlazdl (30} oy @5 9 (A V1) aeluall Jadll Gl o gl dis Logs (O
* Where did you stay last week ?
She asked Omar where he had stayed the week before.
Yes / No Questions

auxiliary 2=l J=8 | Sub. | Verb Object | Complement | ?
modal Jase Jad

asked if Sub. | auxiliary sclue J=8 Object | Complement
wanted | whether modal Jase J=b

to know

* Does she live in this town anymore?
Rami wanted to know if / whether she lived in that town anymore.

Student Book — Page (17 ) — Ex. (5 -6-8-9) ((A-A=1=0) ;ylasdl = (VV) o — Belydll QS
5. Look at these sentences reporting what people said in Exercise 2. Write what they said
originally in direct speech. (lebod Juzdl Balel ) (Sl bogoeill eyl 1o

1) The reporter said that in today’s programme, they would look at some of the amazing things
that different charities were doing.

‘In today’s Programime, We ===============m=me oo e e e e e e e e e
2) The professor said that others had to wash in rivers because they didn’t have clean Water in
their houses to have a bath or shower.

COthers-=mmmmmm e o J
3) The reporter asked how the charity could help these people.
$80 HOW === e m e o e e e e ?’

4) The professor said that dirty water had mixed with clean water and that had made people |II
“DITtY WatEr======n===mmmmm e e e e e e e e e e e e e e e e e e :
5) The reporter said that he could see the charity really should make a difference to people’s
lives.

6) The professor told us to remember 90% of the world’s natural disasters were related to
water. B




Answers

1 ’11 look at some of the amazing things that different charities are doing.
2 have to wash in rivers because they don't have clean water in their houses to have a bath or shower.

3 can the charity help these people?
4 mixed with clean water and this made people ill.

5 can see the charity really should make a difference to people’s lives.
6 Remember, 90% of the world’s natural disasters are related to water.

6. Report the comments and questions. Only change the tenses if necessary.
1) ‘Could I ask you a few questions here and now?’
He asked if he could ask me a few questions there and then.

2) ‘They have been trying to find the answer to the maths problem.’

She said---=-====-s=smmeemme e ceeeees

3) ‘We and a few other friends had a meeting last week.’

They Sy ----------=-mmmm oo

4) ‘Stop what you are doing right now!’

She ordered US --------------=--mmsmmm e

5) ‘It has been a successful day at work today.’

They said -----------------m oo

ANSwers

2) (that) they had been trying to find the answer to the maths problem
3) (that) they and a few other friends had a meeting last week

4) to stop what we were doing right then
5) (that) it had been a successful day at work (that day)

9. Rewrite each statement in reported speech.

Charity workers installed new drinking taps
and a new toilet block in the village last
week. The village has not had fresh water for
many years, so the changes will make a big
difference.

Many children now go to school for longer
because they don’t have to walk long
distances to find water. | would like to thank
the charity for helping our village. | have one
question. How soon will it be before all the
villages in the area have the same help?

2 The villager said that---------------------------

1) The journalist said that charity workers had
installed new drinking taps and a new toilet block in
the village last week. The village had not had fresh
water for many years, so the changes would make a
big difference.

2)The villager said that many children now go to
school for longer because they don't have to walk
long distances to find water. He thanked the charity
for helping their village and asked how soon it would
be before all the villages in the area had the same
help.

15




Work Book — Page (12) — Ex. (1 -2-3-4)

((£-Y-Y-)) oyl = (VY ) (0 — oplesdl LS

1. Read the reported statements and
choose the correct forms to complete the
sentences in direct speech. .dscwall dlyi s
1) She asked what | had been thinking about
at the meeting.

“What were you thinking / have you been
thinking about at the meeting?’

2) He said we should only talk about
important things.

“We should only have talked / only talk
about important things.’

3) He asked us whether we believed the
weather was getting hotter.

‘Did you / Do you believe the weather is
getting hotter?’

4) She said people had talked about the
effects of global warming.

‘People have talked / talk about the effects
of global warming.’

5) He said that their recycling efforts would
help.

‘Our recycling eff ort will / would help.’

2. Choose the correct forms to complete
the news report. Aowouall LYl S
Students went to a meeting about climate
change yesterday. Our reporter asked student

representative, Alia Altahhan why @ had
students / students had joined the meeting.

Alia said that they ® are / were extremely

concerned about the state of the planet and ®
have / had decided to join the discussion after
hearing about similar meetings taking place

around the world Wthe week before / last

week. When interviewed, Alia asked why ®
factories weren’t / weren’t factories doing
more about cutting pollution.

Answers
1 have you been thinking 2 only talk 3 Do you
4 have talked 5 will

Answers
1 students had 2 were 3 had 4 the week before
5 factories weren’t

3. Complete the sentences with asked, said
or told.  .cubiadl Jadl Jad plassiwl AW Jozdl JoST
1) The police officers asked me whether |
was 18 years old.

2) The security guard ------- us not to enter the
building.

3) The fire fighters----- we had to stay behind
the barriers.

4. Choose the correct words a— to
complete the text. Aououall Bl s
| met a guy at a talk last week. He looked a

bit confused, so | asked him () ------ | could
help him. He said that he wanted to know

how he @------ get to the lecture theatre. He
told me that he ®------ to this university

4) The conductor------- if he could see our before. So | told him that | (& ------ show him
tickets. the way. He thanked me and we went
5) The driving instructor ----- you that (© — _
you needed to slow down. 1) a that b why cif
2) a couldn't b could Cc wants
3)awasn’t b hadn’tbeen cChasn’t been
4) a can b will ¢ would
5) a apart b other c together
Answers: Answers
2) told JIges B3| o) 9 12l dny s S92 3929 | 1) €
3) said Ul B15) o) 9 B2 dry s Jgrie S99 pds | 2) D
4) asked Bl day Jlges 8151 5929 | 3) D
5) told 1o 131 o) 9 B s 4 Jgmite D929 4; c
9)C
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Work Book — Page ( 13 ) — Ex. (5-6-7-8)

((A-V-1-0) opyledl = (VY) (o = leddl OUS

5. Complete the reported questions. Only
change the tenses if necessary.

1) “‘Why are you leaving early?’

He asked us why we were leaving early.

2) ‘Were you at the meeting yesterday?’

She wanted to know if I -----------------m-mo--- .
3) ‘What will you be asking for?’

She’s just asked us----------=---=---=--mmmoumu-- :
4) ‘How many people went to the meeting
last week?’

He asked how many people-------------------- :
5) ‘How long have you all been preparing the
dinner?’

He wanted to know----------------------- dinner.
6) ‘Are you hopeful the meeting will be

6. Report the comments and questions.
Only change the tenses if necessary.

1) ‘Could I ask you a few questions here and
now?’

2) ‘They have been trying to find the answer
to the maths problem."'

She said -----===-s=mmnemmeeme oo eeae :
3) ‘We and a few other friends had a meeting
last week.’

4) ‘Stop what you are doing right now!’
She ordered us-----------------=-mmemmme oo :
5) ‘It has been a successful day at work

2 had been at the meeting the day before

3 what we will be asking for

4 had gone to the meeting the week before

5 how long we had all been preparing the

6 if | am hopeful the meeting will be successful

successful?’ today.’
She often asks me------------------—coocmeeee- I LS T L R — :
Answers Answers

2 (that) they had been trying to find the answer to the
maths problem

3 (that) they and a few other friends had a meeting
last week

4 to stop what we were doing right then

5 (that) it had been a successful day at work (that

day)

7. Report the sentences. If it’s possible

to report them in two ways, write both
answers. Loyl gl Sl 131 9 &U1 Jozd! J3>
1) ‘People are getting really upset about the
issue.’

2) ‘This conference is amazing.’
She says that -------=-=-=-=-=neomemoemememnenennn :
3) ‘I love helping other people.’
She said that she --------------------moemem e - :
4) ‘The conference has been a great success.’

She says that the conference------------------------ :

8. Use the prompts to report the conversation.
Last week ...

Rashed: Are you going to the lecture this afternoon,
Osama?

Osama: I’m not sure, but I might. Who else will be
there?

Rashed: Salah and Talal will be going.

Osama: Did you tell Ziad about it?

Rashed: Yes, I did.

Osama: In that case, I’ve made up my mind. I'm
definitely going to go.

1) Rashed asked Osama whether he was
going to the lecture that afternoon.

2) Osama replied that ---------------=----------- :
3) Then he asked--------------------=-emmmne- :
4) Rashed told him that ------------------------ :
5) Osama wanted to know if -----------=----- :

6) But he said that ------------------eee - :

Answers

2) this conference is amazing

3) loves helping other people / loved helping other
people CAaga o (g giai LY cpliadl) ) ga
4) has been a great success

Answers

2) he wasn’t sure, but he might

3) who else would be there

4) Salah and Talal would be going
5) he had told Ziad about it

6) he had




Work Book — Page (18) — Ex. (2-3)

(Y-Y) el = (VA ) yo = el LS

2. Rewrite the sentences in reported speech
, making any necessary changes.

1) ‘The report the newspaper published
yesterday has caused a lot of discussion’.

Mr Bager said------------=--==-=mmmmm oo :
2) ‘Don’t block the doors of the building!’
We ordered them ----------==-=-mnmmmmmmm e meem :
3) ‘Why can’t you listen to what we are
saying?’

He asked uS----=--=-====smeemmoemmecmm e e cccnc e .
4) ‘Everyone who has taken part in the beach
clean-up today will come back next week.’
We told the journalists that--------------------- :
5) ‘We are going to be at the meeting this
afternoon.’

3. Rewrite the sentences in reported speech
, using the reporting verbs from the box.

accuse advise deny
promise apologise insist

1) Rana: ‘I didn’t take a photo of her!’

2) Nasser: ‘I’ll work hard at university,
honestly!’

3) ‘I’m really sorry I criticised your idea,’
Rola said to me-----------=-=-=-=m-mmemem - :
4) Khalil: ‘You really must come to the talk
next week!’

5) The teacher: ‘I think you copied the essay

1) (that) the report the newspaper had published the
day before had caused a lot of discussion

2) not to block the doors of the building

3) why we couldn’t listen to what they were saying
4) everyone who had taken part in the beach clean-up
that day would come/go back the following week

5) they were going to be at the meeting that afternoon

They said that-------------------m--ooooo oo .| from the Internet.’
6) Majeda: ‘It’s a good idea to arrive early.’
Answers Answers

1) Rana denied taking a photo of her.

2) Nasser promised to work hard at university.

3) Rola apologised for criticising my idea.

4) Khalil insisted on me coming to the talk the
following week.

5) The teacher accused me of copying the essay from
the Internet.

6) Majeda advised me to arrive early.
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Unit Seven Grammar

Reporting Verbs

JAL Jlad) daglud) 5as gl) ae) g8

Reporting verbs are used to summarise what someone said. They follow these patterns:
bl oda ad (29 ¢ lo jases B Lo asdd ((Jadl) ol Jlbdl pasowd

Verb + that + clause

: P 9 ddezdl o that Bl aa 3b @1 Jaéy O

agree 38l suggest AR promise A insist 2
deny S explain el complain S recommend | ¢=s
admit Bixy regret P2

— He explained (that) tickets were expensive.

—> She admitted (that) she was wrong.

Verb + object + that clause

L P9 ezl 8 4 Jgmio ey Gb 1 JWI O

advise Tk persuade | &
remind S promise dx
warn e - He warned him (that) he was in danger.

Verb + to-infinitive

to V.1 baw 3b @1 Jsdi ©

promise | = agree g offer 2
regret P decide 238
refuse a8y threaten | >«

- He offered to pay them $10 an hour.

—> The publishers promised to look at her book.

Verb — Object—to V.1

3570 Jab o 4 Jgnio by Gb 1 JusY ©

encourage | &= persuade |z invite | 5=
remind S advise a2 order ey
warn JRee ask Jlug tell A5

—>They encouraged him to try again.

V.ing (sowas ) Jeb ol aas Gb 1 Jdd @

advise T recommend | w2
deny S suggest C
admit S criticise — —>She suggested getting a job as a secretary.

Verb + preposition + (not) gerund

(as ) Job puul 65 52 By Loy Gb 1 Jas O

apologise for < i | object to

Je p2in

linsiston  Jea |

—>They apologised for not listening to her.

Verb + preposition + O.+ (not) gerund (sisas ) Jobb ewl o5 4 Jgaio o yo By> bauas 3b @1 Jwsd (O

accuse somebody of = ka4 g | Warn somebody against / about
blame somebody / something for e b / Lasd oo Lo [ o baseds yiosy
congratulate somebody on Je baxd g

praise somebody for e s e

—>He criticised her answer for being too short.

We use that + should clause to provide information about the object. We use it with

9| SI9re J=al ol de Ju3 L;Jl Jdyl e L@A.J.:Lm.)j L dy.a.dl R uLonJm ;Ua&)‘ that + should (Uo'ﬁ.mj

—>His boss suggested that he should take a holiday.
—>They recommended that she should drive.

We can also use these verbs with that + Present/Past Simple clause:

—>He insisted that they take/took the money. —> She proposed that he take/took a computer.
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Student Book — Page (22 ) — EX. (4-5-6) ((1-0-£) wyaddl = (YY) (0 — Bslyd)l QLS
4. Complete these extracts from the recording with the correct forms of the verbs in

brackets. Listen and check. AVl 50 AT @3 Juzeasdll (o AJWI lilazioll JoS|
1) The university where he worked admitted that----------- (make) him leave before he was 69.
2) But they agreed -------------- (let) him continue working until he was 69.

3) I’'m not surprised the professor criticized them for ----------------- (sack) him?

4) Maybe they regretted -------------- (agree) that he could work for longer.

5 It’s a pity someone didn’t advise them -------------- (not sack) him for being too old.

Answers : 1) they had made 2) to let 3) sacking 4) agreeing 5) not to sack

5 Study the Grammar box and complete it with the verbs from Exercise 4.
Reporting verbs are used to summarise what someone said. They follow these patterns:
« verb + that + clause, e.g. agree, deny, explain, promise, regret, suggest, L.ceceeeee.e.

* verb + object + that clause, e.g. advise, remind, warn

* verb + to-infinitive, e.g. offer, promise, regret, refuse, 2..cceeeeennee..

* verb + object + to-infinitive, e.g. encourage,

remind, warn, persuade, 3.....cceeeeene

* verb + gerund, e.g. admit, advise, deny, recommend, suggest, 4....cceeeeeen.

* verb + preposition + gerund, e.g. apologise for, object to

* verb + preposition (+ object) + gerund, e.g. insist on

* verb + object + preposition + gerund, e.g. accuse somebody of, congratulate somebody on,

praise somebody for, warn somebody against/about, 5..........
Answers : 1 admit 2 agree 3 advise 4 regret 5 criticise

6. Rewrite the sentences in reported speech, using verbs from the Grammar box.
(el pyesll ) aelgill Ggdive oo JadY puscil ¢ Jgiiall Y8 Bucld pluscil &I Jazd! LS del

1) Abeer: ‘It was that man who stole the money!’ 1398 B 3o 9B Jorydl 3 O Ul s s
2) Adel: ‘I didn't break Jamal's phonel” il sl Gl JEI T
3) Habib: ‘Vll help you with the boxes” T Er—"
4) Laith: *You should get more exercise, Omar. 1y 75l e £
5) Hamed: ‘D'l always remember youl” iags 50 g 3 i

Answers

1) Abeer accused a man of stealing the money.

2) Adel denied breaking Jamal’s phone.

3) Habib off ered to help with the boxes.

4) Laith encouraged Omar to get more exercise.

5) Hamed promised that he would always remember me.
6) Nour congratulated Samia on her graduation.

7) Reem apologised for forgetting Suha’s birthday.




Work Book — Page (16 ) — Ex. (1-2-3-4) (£-Y-Y=))beid = (V1) o = opsleidl LS
1. Put the words in order to make sentences. WJa 09 lalsll g iy o
1) promised / the police officer / she / would / that / investigate the matter

The police officer promised that she would investigate the matter.

2) was due next lesson / the teacher / the students / reminded / their homework / that

Answers

2) The teacher reminded the students that their homework was due next lesson.
3) Salwa agreed to collect her sister from school.

4) The doctor advised us to get much more exercise.

5) Noura apologised for waking the baby.

6) The secretary insisted on Rakan bringing his original birth certificate.

2. Match sentences in direct speech a—f with reported sentences 1-6 from Exercise 1.
S el (ha ) sRiall ANl Jan (o gDl 9T g () 13 (A (Aida¥) Jaad) ) pdilal) @3S e a5 b

a) O ‘I’m afraid we need to see the original, not a copy.’

6) The secretary insisted on Rakan bringing his original birth certificate.

b) o ‘You really should walk, run or swim more.’

4) The doctor advised us to get much more exercise.

¢) o ‘Don’t forget to hand in your essays next lesson.’

2) The teacher reminded the students that their homework was due next lesson.

d) o ‘I’ll look into this for you, Madam.’

1)The police officer promised that she would investigate the matter.

e) o ‘OK, I'll pick her up, Mum.’

3) Salwa agreed to collect her sister from school.

f) o ‘Oh, I’m so sorry I woke her up!’

5) Noura apologised for waking the baby.

3. Choose the correct words a—c to complete the sentences. Jaal) Jlasy Aaauall LlaY) )

1- Mazen agreed ---------- the old man was discriminated against.
a) that b) to c) she

2- The man at the information desk advised --------- to leave our phone number.
a) that b) we C) us

3- Nader offered---------- lend Maher his car for the weekend.

a) to b) for ¢) he would

4- The musician objected -------------- playing only his hits at the concert.

a) that b) to c) for

5- The police praised Imad-------------- saving the man’s life.

a) on b) of c) for

Answers:1)a2)c3)ad)b5)c




4. Rewrite the sentences in reported speech using a suitable reporting verb.
Jlial) JAL) Jad Leadiicea J giial) aDlSIl 43000 Jagd) 408 a0

1) ‘I wish I hadn’t bought white trainers.’

2) ‘I will cook for you on Saturday.’

Nadia -------=-==-==m oo :

3) ‘I was wrong.’

MUNA -======mmmmmmem oo :

4) “Why don’t we have a picking-up-litter day?’

Rashed-------------=-m oo :

5) ‘Ali is so negative.’

Tare( ---==--=-=====m-mmmmm e ocm oo oe e :

Answers

2) promised to cook for me on Saturday

3) admitted that she had been wrong

4) suggested having a picking-up-litter day

5) accused Ali of being negative

3. Rewrite the sentences in reported speech , using the reporting verbs from the box.
accuse advise deny
promise apologise insist

1) Rana: ‘I didn’t take a photo of her!’

2) Nasser: ‘I’ll work hard at university,
honestly!’

3) ‘I’'m really sorry I criticised your idea,’
Rola said to me-------------=-=-=-m-mmemem - .
4) Khalil: ‘You really must come to the talk
next week!’

5) The teacher: ‘I think you copied the essay
from the Internet.’

Answers

1) Rana denied taking a photo of her.

2) Nasser promised to work hard at university.

3) Rola apologised for criticising my idea.

4) Khalil insisted on me coming to the talk the following week.
5) The teacher accused me of copying the essay from the Internet.
6) Majeda advised me to arrive early.
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Unit Eight Grammar || Passive Jaeal! Lol uslgd

(Baclall odg) Jol Zlian ) 4 Jgadall Logs T Jggamoll (sual) dhar &=
O.2>be >V3>C.>byS. : JWE s Jsgmall bucld) plall Sadl &

: Jogmall JI gl Ol glas-
(Joldl! o ) Aozl dols § 4 Jgaiall aias 9 Jeldll B> €Y

2ol 9 92l Cus 30 0 Jgriall 9 el wlin 095 9 ( be ) aﬂbwwwwwemﬂugwmww&se@e
- Aazell p0) O Loge (V.3 ) EJB L el s dbazdl § ol J22)I @)

P WS Azl S5 @)
(by) o2l Gy day Aozl Dilgs Bgdmall Jelddl ap9 39 @)

Passive Table

Present Simple

S.> V.1s/es™ - V.15 a2 50. > C.
0. >is*™ —are®” —am->V.3-> C.

- He drives the car to the city centre.
- The car is driven to the city centre.

S. %doe‘sn’t%‘a‘ / don’t* 5V.1 50.> C.
0. >is*™ —are®*—am->V.3-> C.

- He doesn’t drive the car to the city centre.
- The car isn’t_driven to the city centre.

Present Continuous

S.> is> —are—am V.1-ing >0. > C.
0. Sis¥ —are®” —am ->being>V.3 > C.

- He is driving to the city centre.
- The car is being driven to the city centre.

Present Perfect

S.> has>*-have** V.3 50. > C.
0O.-> has>*-have**->been-> V.3 >0. > C.

- He has driven the car to the city centre.
- The car has been driven to the city centre.

Past Simple

S>V.2->0.>C.
0. >was> —were** 5V.3 > C.

- He drove the car to the city centre.
- The car was driven to the city centre.

S. >didn’t V.1 50. > C.
0. Swasn’t>™ — weren’t=* >V.3 > C.

- He didn’t drive the car to the city centre.
- The car wasn’t_driven to the city centre.

Past Continuous

S.> was> —were** 5V.1 -ing >0. > C.
0. >was> — were®** Sbeing>V.3 > C.

- He was driving to the city centre.
- The car was being driven to the city centre.

Past Perfect

S.-> had V.3 >0.-> C.
O.- had-> been-> V.3 0. > C.

- He had driven the car to the city centre.
- The car had been driven to the city centre.

Modal Verbs ( will , can , should .....)

S.-> modal V.1 0. > C.
0. modal-> be-> V.3 >50.-> C.

- He will drive the car to the city centre.
- The car will be driven to the city centre.

is—are—am going to V.1

S.> is¥™ —are —am-> gointto V.1 >0. >
C.

0. >is¥* — are®* — am ->going to be->V.3
- C.

- He is going to drive to the city centre.
- The car is going to be driven to the city
centre.

The Passive Infinitive (to V.1 ¥™)

need — expect .... to V.1 >

S.2 juadiduélu=l > 10 > V.1 > 0. > C.
0.2 Juadl Judl o=l > t0 2be > V.3 5 C.

- He needs to drive the car
- He needs the car to be driven.
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The Passive Gerund ( -ing) Ing — being V.3

S.-> V.1->ing >0. > C. Nobody likes being told about their bad
O.-> V.1->being > V.3>. habits

Jggxall Busld s dola wila>Mle

Some verbs are usually followed by the infinitive and others by a gerund form:

| require you to be on time.

I don’t fancy going out tonight.

When these verbs are used in the passive, the same verb patterns should be used:
The humans who were required to be in the self-driving car ...

I don’t really fancy being monitored at all!
o cJggmall Lé.‘f"‘"’” dauar JdYl i plaswiuwl Lie ¢ (ing) suasdl dauas 1391 lgang (to V.1 ) Jduas)! lgads b sole Jladyl =Ly
(Lday U1 Jaddl e sl 0550 oS0 lgands Y1 e ass Y () JadY1 bl i plaseil
- She enjoys teaching you.

- She enjoys of being taught you

Contexts for the passive
We usually avoid the passive in informal language.
We can use you or they to refer to people in general:
Look! You can switch it on by text message.
They expect to launch the invention next year.
The passive is common in newspaper reports and academic writing because it makes the
style more impersonal and objective.
Jggzmald uall OBl
Ayl a2 A3l Jgemmall guall plasuiund Bale iz -
ple o polsadl ) 5 @ of el sl S, -
ST (£90909 gass & Ol Jaz Y dpa8Y LUSIlg dubmall )il (§ Jsgmall (el plisuis! au -

The passive with two objects
Some verbs can have two objects, and either object can become the subject in the passive —
it depends where the writer wants to put the focus:
@ 1t will show people °”**'* the consequences of a nun healthy lifestyle
—>People will be shown the consequences of a nun healthy lifestyle.
->The consequences of an unhealthy lifestyle will be shown to people.
@1t gives anyone who touches it °”*'* an electric shock °”*'*.
—>Anyone who touches it is given an electric shock.
—>An electric shock is given to anyone who touches it.
Other verbs like this are: hand, offer, pay, promise, send, teach.
(859l ooud (S| & Jondall po Jola 9 ¢ Jogmall dhax ol & () gnall (10 S kil jozo ) (W oriall 93 Jogzmall (ol
( show — give — hand — offer — pay — promise — send — teach ) Jis ¢ o¥gaie W 055 0 o5er JdYl jan
~Jgamall gaell § 3ol (Wgaiall o ST ma OF S
ke 1SN CIBIN Wy (A1 4 Jgriall e Gl daiay

Object 2
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Student Book - P. 27 - Exercises (4—-5-6) (1=0—%) ol (YV) po — Jlall SS
4. ldentify the tense or grammatical form (e.g. a modal) in each example from the
recording. o Lo Aax 5 (o) Lol ighlaall
@ Within a decade or so almost every appliance in your house could be connected.

@ The fridge will be designed to reorder food as you use it.

© Your front door will use facial recognition software to decide if you should be allowed into
the house or not.

@ Studies are being carried out which claim that it will revolutionise our lives.

@It has even been referred to as ‘the fourth Industrial Revolution’.

@ Look at the recent crash which was caused by a sensor malfunction in a self-driving car in
the USA.

@ The number of humans who were required to be in the self-driving car had recently been
reduced from two to one.

©® Can you imagine how many accidents are going to be caused by computer error when no

one is watching the road?
Answers: 1) a modal 2) Future Simple 3) a modal 4) Present Continuous 5) Present Perfect 6) Past Simple
7) Past Perfect 8) (future with) going to

5. Look at the sentences in Exercise 4 again and answer the questions

Al e ey (5,3 80 £ (pyall (§ 831501 Jazd) J) il
€ How do we form the passive in each of the sentences?
€ \When we use the passive, are we focusing more on the action or on the person or thing
doing the action?
€) Why is the ‘agent’ (the person or thing which causes the action) mentioned in two
sentences?

§ ol n Az IS & piimall goall s £S5 @)

Sl pods sl e o) of paseadl o ol Jadll e FST 5555 U e gemmal) (gall dio pusid| Lic @
Sonthoz (3 () aany S el of paseadl) “Jelall” S315WE)

Answers : 1 with the correct form/tense of the verb be + the past participle of the main verb. 2 on the action

3 Because the information given that it was the sensor/computer error that caused the crash is the most

important or newest information. To emphasise this, we use the passive and put this information at the end (the

information principle).

6. Complete the second sentence so that it means the same as the first one, using infinitive

or gerund passive forms. LFduall yhsacll ol youaadl pustiul ¢ JodI Alazell hre (udts Jass Cooms AOUI Alazell JoST

@ It appears that a digital mirror is now available.

A digital mirror NOW appears ---------=-==-==-==mmmmmmmm oo :

® You can ask it to check the weather.

The MIrror Can —------m-m oo :

© You can arrange for the mirror to turn the water on.

You can arrange for the water ---------=----=-mmmmemmm o

O You won’t risk a flood in the bathroom because the taps stop automatlcally

Because the taps stop automatically, there is no risk of the bathroom -----------------=----co oo ——- :

© The mirror knows that if nobody is in the bathroom, it needs to turn the lights of .

The mirror knows that if nobody is in the bathroom, the lights ---------------=--=-o e :

@ | believe most people would enjoy this kind of ‘virtual servant’ looking after them.

I believe most people would enjoy ---------------=------—----- this kind of ‘virtual servant’.
Answers: 1 to be available 2 be asked to check the weather 3 to be turned on 4 flooding 5 need to be turned off
6 being looked after by
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Work Book = P. 20 & EXxercises ( 1-2-3-4) (£-Y-Y-1 ) el (Y- ) (o — cpyleidl LS
1. Rewrite the sentences in the passive. (Jgaal) Lasiins 401 Jand) 48 20
@ This German company manufactures hybrid engines.

Hybrid engings ------------=-m oo :

a) was manufactured by this German company.

b) is manufactured by this German company.

c) were manufactured by this German company.

d) have been manufactured by this German company.

@ By 2035, you could embed a chip like this in your wrist.

By 2035, a chip like this --------=--===mm oo :

a) could be embedded in your wrist C) is to be embedded in your wrist
b) can be embedded in your wrist d) will be embedded in your wrist
© Over two million people have downloaded this ‘body tracking’ app.

This ‘body tracking’ app --------------=============mm oo :

a) have been downloaded by over two million people

b) has been downloaded by over two million people

c) are downloaded by over two million people

d) was downloaded by over two million people

O An insect caused the malfunction.

The malfunction ---------=== = :

a) was caused by an insect c) were caused by an insect

C) is caused by an insect d) are caused by an insect

© Somebody was regularly hacking into celebrities’ smartphones.

Celebrities’ smartphones ----------===-=======mmmmmm oo

a) were being regularly hacked into c) is being regularly hacked into
b) was being regularly hacked into d) are being regularly hacked into
® Most people are going to use wearables in the near future.

MVEANABIES -----------------=-=-===m e e :

a) are going to be used by most people in the near future
b) is going to be used by most people in the near future

C) was going to be used by most people in the near future
d) were going to be used by most people in the near future

1 is manufactured by this German company

2 could be embedded in your wrist

3 has been downloaded by over two million people

4 was caused by an insect

5 were being regularly hacked into

6 are going to be used by most people in the near future

2 . Complete the sentences with by or with.

@ - The first real smartphone was created ---------- a famous company.

@ - Our household appliances are made ---------- only the highest quality materials.
© - The original smartwatch was designed ----------- the inventor, Steve Mann.

@ - A device this simple can be operated ---------- a young child.

© - The sculpture was made ---------- electronic waste.

1 by 2 with 3 by 4 by 5 with
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3. Complete the sentences with the correct forms of be. _.acluell Joill (e dxmsall diuall Jozell JS|

@ - The burnt appliance could ------------ smelled in every room of the house.
a) be b) is C) are d) was
® - The facial recognition software is going -------- updated for the new model.
a) be b) is C) were d) was
© - This device shouldn’t ----------- used by anyone under the age of 16.
a) be b) are c) am d) was
0-l-—-—--- asked for my password every single time | wanted to log in.
a) be b) am C) are d) was

Answers: 1 be 2 to be 3 be 4 was

4. Complete the sentences with the correct passive forms of the verbs from the box.
.G9diuall 3 JladW dovonall Jggzadl dduse aldstivwl AW Josdl JoST

| employ | invite | persuade sell tell
@ | regret -----------—---- to buy this phone.
a) be persuaded b) being persuaded C) is persuaded d) was persuaded
@ | would really like -------------- by one of the giant tech companies.
a) be employed b) to being employed  c) to be employed d) was employed
© Young people don’t need ---------- how to use new devices, they just know instinctively.
a) to be told b) be told c) is told d) to being told
O The new phone implants are going to ------------- in all kinds of shops.
a) being sold b) be sold c) issold d) are sold
© The teacher congratulated them on------------ to take part in the science fair next week.
a) being invited b) are invited Cc) were invited d) is invited

Answers : 1 being persuaded 2 to be employed 3 to be told 4 be sold 5 being invited
Work Book = P. 21 = Exercises ( 1-2-3-4) (V=1=0) sl (YY) o — el QLS
5. Complete the letter with the correct passive forms of the verbs in brackets.
919391 (s B3 g gadl JladYI oo desesall J ggomel! divuay AJWI Al ! JuST
Dear Sir or Madam, Answers
| am writing to complain about one of your company’s smartwatches, 2)WasWwrapped
which @->was given (give) to me last week. Firstly, it @->---------- <)) elteulol 129 gl €z

. . . , 4) was not checked
(wrap) in large amounts of unnecessary plastic packaging. Don’t you ) peing sent

think your products @—-> ----------- (should/package) in a more eco- 6) was not included
friendly way? Secondly, the watch clearly @-> ------------- (not/check) 7) be sent

before @-> ------ (sent) from your factory, as the all-important charging &) could be done
cable @->---------- (not/include). Could a cable please @—> ---------

(sent) to us as soon as possible?

We would appreciate it if this @->------------ (could/do) without

unnecessary plastic packaging.
Yours faithfully,
Amani Alra’l
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6. Complete the second sentence using the word in bold so that it means the same as the

first one. Use between two and five words, including the word in bold.

(bl a9 aielS s Lo puistiul (oY1 ezl (aae S Wlias )9S Camy (sl Jasdlls dguSell AadSU plistinsls 46! dlasd! JuST
Loyl Jasdl &giSall dalSdl e3 § Loy

@ | expect that they will deliver the parcel by four o’clock. DELIVERED
| expect the parcel to be delivered by four o’clock.

@ The teacher said we mustn’t use our phones during the exam. TOLD

WeE --mmmmmmm oo use our phones during the exam.

© The fridge will automatically order more milk before you run out. ORDER

More milk --------------- by the fridge automatically before you run out.

@ We ought to recycle old devices to avoid waste. SHOULD
Old devices ----------=--=-mmnmmmmoem e to avoid waste.

© The main material in this device is plastic. MADE
This device -----------=--=mmmm e plastic.

Answers :

2) were told not to 3) will be ordered
4) should be recycled 5) is made mainly of

7. Complete the advert with the correct active or passive forms of the verbs in brackets.
Our Smart Doorbell @is manufactured (manufacture) at our factory in Portugal and to date over
10,000 of our doorbells @ - (sell) throughout Europe. Our tech engineers > J—
(design) this state-of-the-art device. So, what’s so special about our doorbell? You . J—
(can/answer) your door from anywhere witheyour smartphone.

Incredible but true! The on-board camera ¥ --------- (can/use) to see who’s at your door. You
can even let visitors into your home when you’re not there if you want. To activate this
function, the doorbell needs C J— (pair) with one of our smart locks. What | J—

(you/wait) for? Buy one now!
Answers:

2) have been sold

3) designed

4) can answer

5) can be used

6) to be paired

7) are you waiting

Work Book = P. 26 > Exercises ( 2) (Y) obeid! (Y1) (0 — opybesdl QLS
2. Complete the sentences with the passive form of the verbs in brackets and by/with
where necessary.

@ The number of smart devices that -------------------- (use) globally is going up all the time.
[ (wake up) the neighbour’s faulty burglar alarm again last night.

© They didn’t remember that they --------------- (ask) to write a review of the new app.

O The factory----------------- (just /automate) so some people have lost their jobs.

@ | think all our houses ----------------- (control) powerful computers soon.

Answers:

1) are used Lol g sl J seae

2) was woken up by sl ol J gene

3) had been asked Ll oalall J sene

4) has just been automated 4l ¢ jbadll J seaa
5) will be controlled by sl il J ¢




We can report beliefs and opinions using verbs such as:  :Jis3Vi g ;5691 Jad dJl Jadl Jladl plocow! LS

V.1 qump s | V.2 | o5 | | V. ¢mmmmm) ;s bheen
o—> Say are || said were said Jsi
@- | think am || thought thought have been Sty
©- | know knew knew Gy
O- |claim claimed claimed st
©- | estimate estimated estimated 3,
- | expect expected expected B
@- | reveal revealed revealed xS
©- | remark remarked remarked LDy
©- | believe believed believed RESEY

sl lge @ AW LY saclall ody)
il &l 3 1T el mig e JoY) Sl gl sl (§ -
present belief D (plaal g Oldaal) 1 JoYl bl
S.>V.l>that>C. >it+is+V.3 + that clause
<>They believe that this businessman would now be the richest man in the world.
&> ltis believed that this businessman would now be the richest man in the world.
past belief D (gpldl § Olaaall ) : QW1 Laadl
S.»>V.2>that> C. > it +was +V.3 + that clause
<> The experts revealed that hackers had interfered
&1t was revealed that hackers had interfered
Aozl Bl (3 that e dgzgell Jeld)l Aoy e J9I Sl gl Jaeddl (§ -
S.>V.l>that>V.1->C. >S. »>is—are »2V.3>t0> V.1l >C.
S.>V.2>that>V.1>C. >S.>was-were 5V.3>t0>V.1 >C.
<> They report that his new system, called Solid, is reported to be a platform
<> His new system, called Solid, is reported to be a platform ...
(present belief about a past event) > sucll / JSadl i 4 0950 9 (9ol § ady v (e §)lasdl Olddias
S.»>V.l>that>V.2>C. >S. >is—are 5V.3>1to-> have been V.3 > C.
S.»>V.2>that>V.2-> C. > S. > was - were V.3 > to > have been V.3 > C.
S. > has/have V.3 > that-> V.25 C. > S. 5 has/ have been V.3 - to - have been V.3
->Experts believe that more than 700,000 people were affected by the virus.
->More than 700,000 people are believed to have been affected by the virus.
Student Book - P. 33 - Exercises (3-4-5)
3. Match sentences 1-3 from the text with patterns a—c in the Grammar box below.
el gl Bgdino (o ansliadl JSEII 9l Janddl ao ¥ =V (o Jozd! Jrogis @3
1 o These are thought to have been the first words ever spoken on a telephone.
2 o It is believed that Alexander became interested in studying sound because ...
3 0 He is widely reported to be the inventor of the telephone.
a) for present or past belief: it + passive (be + past participle) + that clause
b) for present belief: subject + passive (be + past participle) + to-infinitive
c) for present belief about a past event:
subject + passive (be + past participle) + perfect infinitive (to have been + past participle)
Answers:1>c2>a3->b
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4. Rewrite the sentences using the first pattern (a) from the Grammar box.
(85515 aud Ay oy sl Baadd 03 ) SV S 9l Jaaidl pluseinsly AJWI Jazell LUS us!

@ People say that other scientists invented the telephone.

a) Itis said that other scientists invented the telephone.

b) It was said that other scientists invented the telephone.

¢) It has been said that other scientists invented the telephone.

d) It has said that other scientists invented the telephone.

@ Experts expect that more people will own phones in the future.

a) It were expected that more people will own phones in the future.

b) It was expected that more people will own phones in the future.

c) It is expected that more people will own phones in the future.

d) It are expected that more people will own phones in the future.

© Some people have suggested that young people should not have mobile phones.

a) It had been suggested that young people should not have mobile phones.

b) It have been suggested that young people should not have mobile phones.

¢) It has been suggested that young people should not have mobile phones.

d) It has suggested that young people should not have mobile phones.

Answers:12a2->b3->c

5. Rewrite the sentences using patterns b and ¢ from the Grammar box.
(8515 b diuas ¢ el Bawdl @3 ) CIWIg JEII JKEJI 9l danidl pluseiwl AW Jooell &HUS el
@ People say that a scientist called Elisha Gray invented the phone at the same time as
Alexander Graham Bell.
a) A scientist called Elisha Gray is said to invented the phone at the same time as Alexander
Graham Bell.
b) A scientist called Elisha Gray is said to have invented the phone at the same time as
Alexander Graham Bell.
c) A scientist called Elisha Gray is said to invent the phone at the same time as Alexander
Graham Bell.
d) A scientist called Elisha Gray is said to be invented the phone at the same time as Alexander
Graham Bell.
@ Initially, people thought the telephone was only for rich people.
a) Initially, the telephone was thought to be just for rich people.
b) Initially, the telephone was thought to is just for rich people.
¢) Initially, the telephone was thought to are just for rich people.
d) Initially, the telephone was thought to was just for rich people.
© Experts have estimated that the majority of people in the world own a smartphone.
a) It have been estimated that the majority of people in the world now own a smartphone.
b) It has been estimated that the majority of people in the world now own a smartphone.
¢) It had been estimated that the majority of people in the world now own a smartphone.
d) It has estimated that the majority of people in the world now own a smartphone.
Answers :1-5b2->a3->b
1 A scientist called Elisha Gray is said to have invented the phone at the same time as
Alexander Graham Bell.
2 Initially, the telephone was thought to be just for rich people.
3 It has been estimated that the majority of people in the world now own a smartphone.




Work Book - P. 21 - Exercises (1-2-3-4)

1. Study patterns a—c and match them with sentences 1-6. A Aplial) Aland) aa Jaadl) Juan 55 o8
a It + passive + that clause

b —>subject + passive + to-infinitive

C —>subject + passive + perfect infinitive

@ o The designer is known to have been heavily influenced by early computers. > ©

@ o It is thought that the city’s schools will be completely paperless within 50 years. - ®
© o 5G mobile networks are expected to greatly improve Internet connection speeds. -

O o 1t was once believed that guided missiles would be used to deliver post. > ®

© o The company is estimated to have sold nearly ten million handsets in the last ten years. ©
O o Sales of the company’s main product were reported to be steady. -
Answers:1)c2)a3)b4)ab)c6)b

2. Choose the correct forms to complete the sentences. (Jaal) Jlasy dagaual) 4aY) i)
@ It is / was said that high-speed rail travel would cause people to stop breathing.

® Over half a million passwords are thought to be / to have been stolen in the hack.

@© It has often been remarked / remarking that the world was a simpler place before people
had telephones.

@ We / It is thought that there are over 1.5 billion websites today.

@ It is being / was revealed that personal data had been collected illegally by the company.

@ The hacker is thought to be / being a man in his 30s living somewhere in southern Germany.
Answers : 1 was 2 to have been 3 remarked 4 It 5 was 6 be

3. Put the words in brackets in order to complete the sentences. Jozdl JLSY LolgdVI o el L5y
The Internet @is thought to have contained (thought / to / is / have contained) five million
terabytes of data in 2010.

N — (is /it / that / expected) by 2020, there will be 40 billion terabytes of data
online. Of the nearly two billion websites ® ---------e-eeeeeee- (to / exist / believed) today, it is
estimated that less than 200 million are actually active.

Social media users @---------—--- (to / are / reported) upload 95 million photographs every day.
Rather sadly, - — (said / is / it / that) 70% of them are never looked at by anyone.
The first email @---------———— (known / have / is / to / been / sent) by a programmer

called Ray Tomlinson. Unfortunately, | —— (not / is / known / it) what the message
was as Tomlinson can’t remember!

Answers

2) It is expected that 3) believed to exist
4) are reported to 5) it is said that
6) is known to have been sent 7) it is not known

4. Complete the sentences with the correct impersonal passive forms of the words in
brackets. Sometimes more than one answer is possible.
@ It is often remarked (often/remark) that too much screen time is bad for your eyes.

@ IT graduates --------------- (expect/pay) a high wage as soon as they graduate.
© Five people ---------------- (believe/injure) in yesterday’s accident.

O It (claim) that wi-fi signals are harmless to birds and insects.

[ 5 P (never/ expect/do) this in my last job.

Answers

2) are expected to be paid 3) are believed to have been injured 4) is claimed 5) was never expected to do
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Work Book = P. 26 - Exercises (3)
3. Rewrite the sentences in the passive. (Jgemedl e (o cppad 4l ) Jggamall e AW Joazedl LS uel
B3I aup diay (el (FaalS @5

@ More people are buying smart household appliances these days.

a) More smart household appliances are being bought these days.

b) More smart household appliances were being bought these days.

¢) More smart household appliances is being bought these days.

d) More smart household appliances was being bought these days.

@ People claim that virtual reality experiences are exactly the same as the real thing.

a) It was claimed that virtual reality experiences are exactly the same as the real thing.

b) It is claimed that virtual reality experiences are exactly the same as the real thing.

c) It has been claimed that virtual reality experiences are exactly the same as the real thing.
d) It are claimed that virtual reality experiences are exactly the same as the real thing.

© People expect that self-driving cars will reduce the number of traffic accidents.

a) It is expected that self-driving cars will reduce the number of traffic accidents.

b) It was expected that self-driving cars will reduce the number of traffic accidents.

c) It has expected that self-driving cars will reduce the number of traffic accidents.

d) It have been expected that self-driving cars will reduce the number of traffic accidents.

O We believe that at least 20 companies have lost important data due to the recent computer
virus.

a) Important data is believed to have been lost by at least 20 companies due to the recent
computer virus.

b) a) Important data were believed to have been lost by at least 20 companies due to the recent
computer virus.

¢) a) Important data was believed to have been lost by at least 20 companies due to the recent
computer virus.

d) a) Important data had believed to have been lost by at least 20 companies due to the recent
computer virus.

Answers

1 are being bought these days

2 is claimed that virtual reality experiences are exactly the same as the real thing

3 is expected that self-driving cars will reduce the number of traffic accidents

4 1s believed to have been lost by at least ...
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| Unit Nine Grammar l | Condituonals l b Sl Jozd)! : dasslidl Busgll Ul g3

Zero Conditional >  syall bl

(A situation that the speaker considers is generally true.)—> (ol Ko dmmio Eruiall iz dl>)
If clause (bl Jab) Main clause ( L, wls>)

V.1s-es” /V.1 O/ CS. [V.ls—es*™/V.1 o)
If> S. [doesn’t®™ V.1/don’t**V.1 O CS. doesn’t*™ V.1/don’t**V.1 | O
If you heat water, it boils.

First Conditional>  Js¥! b,2Ji
(A situation that the speaker considers is likely to happen.)>  (&sasdl &Shs Gamiall b ya Al )

If clause (L Jas) . Main clause ( Ll ols>)
V.ls—es>™ /V.1 O GS. will("'ll)/canV.1 O
If> | S. | doesn’t® V.1/don’t**V.1 | O CS. |willnot(won't)/can't V.1 | O

If it rains tomorrow, we will post the meeting.

Second Conditional> 3! bl

talk about an unlikely or imaginary situation in the present or future
Judnadl ol ool (3 dang of dains pe D> oy Codl

If clause (1l J=s) Main clause (L ols= )

V.2-> O0.- |C |S. > |would could might Vi O

If> | S. [didn’t V.15 0. |[C [S.> |wouldn’t | couldn’t 'mightn’t V.1 O

If [ were a professional sportsman, 1’d probably be much richer now.

Third Conditional->  &JWI b &l

to talk about an imaginary situation in the past. o2l & b CaBgn e ]
If clause (1l Jas) Main clause (L ols= )

had V.3 0. C |S. |would could might have | V.3 O
If>|S. hadn’t->V.3 O. C |S. wouldn’t | couldn’t K mightn’t have V.3 O

If I hadn’t done all those things, I wouldn’t have done so well at university.

Mixed conditionals combine clauses from the second and third conditional types.
D AW Ololasad) Dl oda § g 0950 9 Wy GBI o2l ow aeadl oS

» We use this to talk about the effects of an imaginary present situation on the past:
102l e ol (§ s Cabge Ol e Gusal) (gadseiud
If>S.>V.2-> 0.5 C,S. - would(n’t) 2have> V.35 0O
If | didn’t speak Spanish, I'd never have met my Spanish friend.
(I speak Spanish. = | met my friend.)

» We also use this to talk about the consequences in the present of an imaginary past situation:
oWl § L age e ol (§ A8l gl (e Codod) Uil s pusiiud

If>S.>hadV.3>0.->C,S. 5> would’t) > V.1>0

If I'd won that competition, I'd be richer than | am now. (I didn’t win. - I’m not rich.)




Student Book - P. 38 /39 - Exercises (4—-5-6-7)
4. Match the conditional sentences 1-4 with their types a—d. Agslgil ao b 1 Jozedl I
@ o If you read the travel pages, you’ll probably hear about a new tourist attraction somewhere
in the world.
a) zero conditional (A situation that the speaker considers is generally true.)
b) first conditional (A situation that the speaker considers is likely to happen.)
c) second conditional (A hypothetical situation in the present or future.)
d) third conditional (A hypothetical situation in the past.)
@ o If a tourist attraction is popular, it can be very good news for the organisers.
a) zero conditional (A situation that the speaker considers is generally true.)
b) first conditional (A situation that the speaker considers is likely to happen.)
c) second conditional (A hypothetical situation in the present or future.)
d) third conditional (A hypothetical situation in the past.)
© o Perhaps more people would have wanted to climb it if they hadn’t had to splash out on an
entrance fee.
a) zero conditional (A situation that the speaker considers is generally true.)
b) first conditional (A situation that the speaker considers is likely to happen.)
¢) second conditional (A hypothetical situation in the present or future.)
d) third conditional (A hypothetical situation in the past.)
@ o If you drove the route, you would see castles, beaches and amazing mountains.
a) zero conditional (A situation that the speaker considers is generally true.)
b) first conditional (A situation that the speaker considers is likely to happen.)
¢) second conditional (A hypothetical situation in the present or future.)
d) third conditional (A hypothetical situation in the past.)
Answers :
b
2)a
3)d
4)c
5. Study sentences a—b which have the same meaning. Why are sentences a known as
mixed conditionals? Check your answers in the Grammar box.
Blr] o 3o §Alaliseal! dab 2l Jozdll (1) Jozd) Byad 130 . sl u Lg) 1 O-F Szl !
@ a-> If they hadn’t made the North Coast 500, people would be poorer.
b-> They made the North Coast 500, so people are not poorer.
@ a-> If the organisers realised this, they would have done things differently, perhaps.

b-> The organisers do not realise this, so they didn’t do things differently.
Answers :
Sentences a are known as mixed conditionals as they combine clauses from both second and third conditionals.

6. Choose the correct verb forms to complete the sentences. Jozd! JWSY dmumsall Dol s
@ If Issa isn’t / wasn’t afraid of snakes, he would have picked it up.

@ If he learnt/ had learnt to swim, he might be in the sea now.

© | will / would be famous if | had taken that job.

@ I he fell / had fallen, he would be dead now.

© If he looked / had looked at the map, he wouldn’t be lost.
Answer:

1) wasn’t 2) had learnt 3) would 4) had fallen

5) had looked
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7. Read the article about refugees and use the verbs in brackets to complete the sentences
with correct conditional structures. el bl plastiwl Jozdl JWSY elgBNI e Jlad)I il

€@ If Uganda hadn 't helped (help) so many people in need, it ---------------- (have) the most
refugees of any African country.

@ 11 the Olympic Refuge Foundation --------- (not help) people, the refugees ------------ (have)
more mental health problems.

@ If the refugees ------------- (not be) top athletes, they ---------- (compete) for the Refugee
Olympic Team.

@ 1 Amelio Castro ---------- (not lost) in Paris, he -------------- (get) a medal.

@ If some of the refugees ---------- (not have) a desire to help other people, they----------------

(not want) to become coaches.
Answers

1) wouldn’t have 2) didn’t help, might/would have 3) weren’t, would/might not have competed

4) hadn’t lost, might have got 5) didn’t have, would not want

Work Book - P. 28 -29 - EXxercises ( 1-2-3-4-5-6 )

1. Match the two parts of the sentences.

€@ o Unless you’re very well-off

a) if she didn’t splash out every time she went shopping.
b) you’ll need to borrow money to buy a house.

¢) if I’d gone to a costly private school.

d) I wouldn’t have had to work so hard to pass my exams.

e) if you manage your finances carefully.

@ o Zeinab wouldn’t run out of cash every month

a) if she didn’t splash out every time she went shopping.
b) you’ll need to borrow money to buy a house.

¢) if I’d gone to a costly private school.

d) I wouldn’t have had to work so hard to pass my exams.

e) if you manage your finances carefully.

© o You can live on very little

a) if she didn’t splash out every time she went shopping.
b) you’ll need to borrow money to buy a house.

c) if I’d gone to a costly private school.

d) I wouldn’t have had to work so hard to pass my exams.

e) if you manage your finances carefully.

@ o If the exams were easier,

a) if she didn’t splash out every time she went shopping.
b) you’ll need to borrow money to buy a house.

c) if I’d gone to a costly private school.

d) I wouldn’t have had to work so hard to pass my exams.

e) if you manage your finances carefully.

© o My parents wouldn’t be as well-off as they are

a) if she didn’t splash out every time she went shopping.
b) you’ll need to borrow money to buy a house.

¢) if I’d gone to a costly private school.

d) I wouldn’t have had to work so hard to pass my exams.

e) if you manage your finances carefully.
Answers:1)b2)a3)e4d4)d5)c
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2. Match types of conditionals a—e with sentences 1-5 from Exercise 1.
- JOVI cppeidl po Jazmdl e AW o 21 Jord! 19l S
a) O Zero conditional: a situation that the speaker considers always true.
Tas1 domomsn @Sl L piny D> 2yl dido 21 (1
b) o First conditional: a situation that is likely to happen in the future.
el (§ digu> Jatizm Cadge 1 JoYl Aol (0
c) o Second conditional: a hypothetical or improbable situation in the present or future.
sl ol sl (§ Ahotime p& of dusl 8l Al 3501 Ao 2l (z
d) o Mixed conditional: the present consequences of a hypothetical past situation.
Auole Aol Aloe) 34l gl daliseall Aol (5
e) o Mixed conditional: the effects of a hypothetical present situation on the past.
,@'aLAJ! e @b\j«'é!f,'ab gﬁy@)uT rddaliseoll ddo idl (2
Answers:a)3b)1c)2d)5e) 4
3. Read the sentences. Then choose the correct words to complete explanations a and b.
(<) 9 () Clawas! JLSY douall Ol s @F . Jozel 1,31
@ If video games weren’t so costly, I’d buy a new one every month.
s S Bz Baslg (Ghsle cuS (el daal gl Ol oS5 o 13)
a) Video games are / aren’t costly. Ao ) / A0 guitad)] Ol
b) I buy / don’t buy a new one every month. e JS B Busly GASTY / Ak,
© If you don’t buy the car today, it will be more expensive tomorrow.
Jag el 0gStud ¢p gl Bl (SES @) 13)
a) You are recommended / not recommended to buy the car today. 291 Bylace 10 i Y / paiy
b) The car costs more / less today than it will tomorrow. e e 39S Lo JBT / ST 05,01 (grl55 8yl
© If we were affluent, we would’ve bought a big flat.
3 BS At (S Addan US sl T LS

a) We are / aren’t affluent. £by3 e / 63l oyoes
b) We bought / didn’t buy a big flat. Bl Add S o) / Uy sl
Answers :

1) aare, b don’t buy
2) a recommended, b less
3) aaren’t, b didn’t buy

4. Complete the sentences with the phrases from the box. There is one extra phrase.

cancel 1l pick you up weren’t struggling
would have to wouldn’t be feeling wouldn’t need
€@ I we spent more on society, fewer people would have to live in hardship.
@ If we’d caten breakfast, we --------------— so hungry now.
€@ If our house hadn’t been burgled, 1---------------- a replacement passport.
Ol at 6 p.m. outside the shopping centre unless | hear differently.
Q- your bank cards immediately if you lose your wallet.
Answers :

2 wouldn’t be feeling
3 wouldn’t need

4 11 pick you up

5 Cancel




5. Complete the mini-conversations with the correct forms of the verbs in brackets. Use
short forms where possible. S b 5 maill fuall pusl .cawgd o Jsd dowoeall guall plissinl cbsteall ST,
TNCTAP | A — (pass) my exams, | would be at university now.

Dalia: True, but at least you are earning money rather than getting into debt.

Fadi: Don’t you know what to do?

Ali: Fadi, if | knew what to do, | L (not ask) you. Alma I thought you were one of
those unusual people who don’t like chocolate.

Heba: 1f | © e (not like) chocolate, I wouldn’t have made chocolate cake, would 1?
Nawal: If | was richer, | . J— (donate) some money to help poor people.

Sana: You could donate some food instead.

Nour: If you - R — (not be) so extravagant during your last shopping trip, you’d have
enough money left to go out this weekend.

Muna: | know, I know!

Answers :

1) ’d passed 2) wouldn’t have asked/wouldn’t be asking 3) didn’t like 4) would donate/would have donated
5) hadn’t been

6 . Choose the correct words a—c to complete the text below. .Jawdi § padl JuSY dxmall LS s

€ a) aren’t b) weren’t ¢) wouldn’t be

2 EVRE b) °d c)’ll

@ a) unless b) as ¢) when

O a) buy b) bought c) ’d buy

@ a) mightn’t  b) might c) will

@ a)wouldbe b)is c) will be
LAMP-SHOP

The Adjusta-Lamp Pro is the best smart desk lamp on the market. Believe us, if they L J—
so great, we wouldn’t have installed them as standard in our own offices! Adjusta-Lamp Pro

Is available now at a bargain price. If you miss this special offer, you L regret it.
Why?
Because © - we say bargain, we mean BARGAIN! If you . — this lamp at any

other shop, it would cost at least 99 JOD, but we’re proud to offer it for just 59 JOD!

Place your order now as stocks are running out fast! In fact, if we’d known how popular this
lamp was going to be, we - J— have offered it at such a low price!

24-hour delivery guaranteed — if you’d ordered last night, it C — sitting on your desk
right now! Don’t wait another day. Order right away!

Answers:1b2c3c4b5a6a

7. Complete the sentences with unless 13, if &'/ //or, where possible, when Lo,
€ Unless you run, you’re going to be late for the lesson.

® You'll laugh ------------- | tell you what happened to me yesterday.

e - you don’t feel like going, then don’t go!

@ Don’t bother making coffee for me------------- you’re making one yourself.
Q- | told you a secret, would you be able to keep it?

Q- the clock strikes midday, the race will begin.
Answers : 2) if/when 3) If 4) unless 5) If 6) When

KEAAKAAKAAEAKAAAXAAAAXAAAIAAAAAAAAAAAAAAAXAAAXAAAAIAAAIAAAAAAAAAArAhAhhhhrhkhhhhrhhrdhhrhhrihihihhkiiiiiixk
FERIAIAIAKAIAAAIAAAIAAAIAEAAIAAAIAAAIAIAAIAIAAARIAAAAAAIAAAIAAAIAAAIAAAIAAAAAAAIAAArAAArAAArAArrAArhhrhhhhhhhhiiihiitk

KEAAKAAKAAAAIAAXAAAAXAAKRIAAAAAAIAAAAAAXAAAXAAAXAAAAAAAAAAAAAAAAArAhAhhhhrhkhhhhrhhrhhrhhrhhhkihhkiihiiiixx
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Unit Nine Grammar || Wish / If only / Past Modals Jagel Jiadl / ool e pusl

Expressing dissatisfaction and regret | wish/If only

Present regrets gladi e pusdl Past regrets ol e puil
ylaadl § pdidl e eaild JWI S pdstiuws @2l § pudl o8 il U1 JSEI pusicd

S. iwish|S. (V.2 O.iC. |S. wish | had V.3 0. [C.

If only didn’t V.1 Ifonly |S. hadn't V.3

-1 wish | had a car. (I don’t have a car.) | =1 wish you’d teld me what sort of house it was.
=1f only | was/were taller. (I’'m not tall.) | (You didn’t tell me.)

->If only 1d left my car at home today. (I didn’t
leave my car.)

Alazdl oS5 @ .l Jodl (5 dazd! 131 O L Jl 0l ezl cSEBI Q) L Jeladl ami O
1. She lives at a big flat alone. 2. She lived at a big flat alone.
I wish she didn’t live at a big flat alone. — | wish she hadn't lived at a big flat alone.

Suelal Lol Jgluzdl (p oda

Present regrets golasdl e aill Past regrets oWl e auidl

i Aaznll Rl JI i Aaznll Rl JI
Vl [ V1 sles > didn’t V.1 V.2
will / can V.1 ﬂ would / could V.i hadn't V.3

| has / have V.3 '
is/am / are ﬂ wasn’t was / were
weren’t regret V.ing
dpdio dloced! Caa J! el S JdI
doesn't/don't V.1 V.2 didn't V.1
won't/can't V.1 Would V. 1 wouldn't/couldn't V.1 had V.3
: hasn't / haven't V.3

isn't/aren't/ am not | was / were wasn't / weren't

oo Aoyl o Jodl oo Aoyl o JodI
would like to V.1 T should have V.3
would love to V.1 ﬁ ' should V.1 had V.3
need to V.1 Would V.1 needed to V.1
want to V.1 wanted to V.1

Shouldn’t hadn't V.3

Past modals For criticising w2l @ aall Jsgell Jladl

- Criticise past situation (oWl & LB ge i3
S. = should(n't) have V.3 0. > C.
- You shouldn’t have read that letter.

- something was possible, but didn’t happen, so we are unhappy about the result.

Al e (el A (28 A ¢ i o diS) 9 Ggasdl (e OF
S. - could(n't) have V.3 0. - C.
You could have told me you were coming today!
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Student Book - P. 44 - Exercises (1-2-3-4-5)

1. . Look at the title of the article. How would you answer this question?

What would you change in your life

either now or in the past?

When | asked this question on social media, here are some of the answers | got:

'l wish I had gone to university. | have a job but ® I think 1 could have got a better job if | had
a degree.

?If only | had followed my dream to be a photographer! | was too scared of failure.

| might not have been good enough, but ® 1 should at least have tried.

° I shouldn’t have listened to my friend who told me | would never go to university because

I couldn’t spell. I'm dyslexic, not stupid, and guess what? Now | have two degrees!

*If only | was better at finishing what I ... ;) When | was younger, | spent too much time
worrying about what other people thought of me. I know now that ¢ | needn’t have worried
because most people aren’t judging anyone else, and if they are, it doesn’t really matter.

“I wish I could travel round the world. © I thought I didn’t think exercise was important.
How wrong | was! | regret that now. > 1 wish my best friend would stop telling everyone my
secrets. It’s not how a friend should behave!

3. Look at the underlined examples in the text (1-5) and complete rules 1-3 below.

1 We use wish/if only + ---------- tense to talk about present regrets, or things we would like to
change.

2 We use wish/if only + --------------- to talk about how we want someone else’s behaviour

to change.

3 We use wish/if only + --------------m--- tense to talk about past regrets.

Answers: 1 Past Simple 2 would 3 Past Perfect
4. Match the examples of past modals in bold in the text (a—e) with the meanings 1-5.
Lgblae go il oy (30Lb Hagall Jladl e diadl Juo g 03
@ o 1 did something, but it wasn’t necessary. Brgpo 0o @ i) clo Bt cdad
@ o 1 didn’t do something because it wasn’t necessary (or | thought it wasn’t).
(590 050 o & otz of) i 0 05 o) 49 Gt Jadl o
@ o 1t was a good idea for me to do something, but I didn’t do it.
aladl o) (5SU B Jadl O (J Gl B 8,55 <36
@ - 1t wasn’t a good idea for me to do something, but 1 did it.
alad (oS Byl Jadl O J sl Bz 8,53 S5 o)
@ o Something was a possibility, but I didn’t do it. sl o) 50 clo Bt Jadl O Sl (y0 OF
Answers:1)d2)e3)b4)ch)a
5. Choose the correct verb forms to complete the sentences. Sometimes both answers are
correct.
€ Your room is a mess! | wish you would pickup / picked up your clothes from the floor!
@ | didn’t need to wait | needn’t have waited long for him because he arrived a couple of
minutes later.
® You should have had / needn’t have had breakfast; then you wouldn’t be hungry.
@ 7 only he knew / would know the truth!
@ | wish | had bought / bought her a nicer present — she looked a bit disappointed when |

gave it to her.
Answers: 1) would pick up 2) didn’t need to wait 3) should have had 4) knew 5) had bought
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Work Book = P. 32 > Exercises ( 1-2-3-4)

1. Choose the correct options to explain the meaning of the sentences in bold.
el laslb LSl Jazll gre 74 gresuall Ll i

€@ | wish I could stop eating crisps. bl 336) Jgbs e @B gl of gwil.
The speaker can / can’t stop eating crisps. onbladl 36y ST e Cadgdl datn Y /adatiw Susal,
@ If only Alia knew how I felt about it. I3 Sl yadl (i Jaid Cayns elide il
Alia does / doesn’t know how the speaker feels about it. <3 Jl> Gasall jaiy a8 Bya3 Y / yas clile,
Q They shouldn’t have bought it. 5l% egde o O e,

The speaker is talking about someone who did / didn’t buy something.
Lo Bad i o / Jad pasd (e Gdsiell iy
@1t was sunny so we didn’t need to wear our raincoats.
)JQAH ablao ¢|43)) dl 4:-[:;) OSJ ‘QJ |4J Mﬁzﬂ of

The speakers did / didn’t wear their raincoats. el Ciblas 55y o / )b Ogiuoiall o,
@ | should have asked if the boy needed any help. Buislce (8T J) drlowy ol 08 13) JLf o s OF.
It was a good idea to ask if the boy needed any help, so the speaker did / but the speaker
didn’t. Jadsy o) Gasiall oS3/ asiall Jab U dasluce T ) dzbo uall 08 13] las L oF dundl ¢y 0
@ Ali could have given Fadi a lift into town. el ) 536 Juosy 0f e 0L 0
Fadi did / didn’t get a lift into town from Ali. e 0 ol J] duogs e 626 uazs o / 506 Jua>

Answers : 1) can’t 2) doesn’t 3) did 4) didn’t 5) but the speaker didn’t 6) didn’t

2. Complete the sentences with the correct forms of the verbs in brackets.

(8510 aup diuay el BaaadiS 03 ) il g8V (py Jadll asesal

@ | wish | - (know) what questions they plan to ask during the English oral exam.
a) has known b) had known c) know d) knew
® ifonly | - (walk) to school yesterday instead of going by bike.
a) has walked b) had walked c) walked d) have walked
€@ You didn’t need to --------- (buy) that new charging cable but I guess it’s good we’ve got a
spare one.
a) buy b) bought c) buys d) buying
@ We didn’t need ------------- (bring) our waterproof jackets after all.
a) to bring b) brought C) to brings d) to bringing
(5 JIRTYE  [— (can be) at the World Cup finals last month and seen my country play.
a) could have been b) could has been c) could been d) could had been
@ Looking back, perhaps | ---------- (should not say) anything, but I did, so it’s too late now.
a) shouldn’t have said  b) shouldn’t said c) shouldn’t says d) shouldn’t saying

Answers: 2) had walked 3) buy 4) to bring 5) could have been 6) shouldn’t have said

3. Complete the second sentence using the correct forms of the underlined verbs.
o iz S Jail) dovmsall daall plusuiwl A1 dlesd oS!
€ | wish | were luckier.
I wish | had been luckier the last time | bought a lottery ticket.
@ I only | could afford to buy a new scooter.
If only I-------------- to buy a new scooter for my sister’s last birthday.
€@ 1 wish you’d been here to watch me perform yesterday.
| wish you --------------- here to watch me perform now.
@ 1f only we’d known where you were, we’d have come to get you.

If only we------------ where you are, we would come and get you.
Answers: 2) could have afforded 3) were 4) knew




4. Complete the dialogue with the correct forms of the words in brackets. Use short forms
where possible.

Ramzi: Did you read about that guy who unlocked that safe in Amman?

Hani: Er ... what? Is this a joke?

Ramzi: No! | read it online. He was visiting The Jordan Museum and there was this safe there

that nobody had ever been able to unlock. Anyway, he tried a random combination and opened
it first time!

HaniP Wow. Pure chance. If only he 1'd visited (visit) earlier!

Ramzi: Ha! | wish | 2 ------------—--- (be) there to see that.
Hani: So what was inside?
Ramzi: Well, he probably 3 --------------- (need not bother) because there were just a couple of

old documents.
Answers: 2) ’d been 3) needn’t have bothered

Work Book - P. 34 - Exercises (5)

5. Choose the correct words to complete the sentences. More than one answer is possible.
€@ | wish everything these days isn’t / wasn’t | weren’t S0 expensive.

@ I only my sister would stop / stopped / had stopped borrowing my clothes!

€@ | wish I studied / would study / had studied sciences at school, but it’s too late now.

@ He needn’t have worried | shouldn’t have worried | didn’t need to worry about the test. He

came top!

Answers :

1) wasn’t/weren’t 2) would stop 3) had studied
4) needn’t have worried/shouldn’t have worried
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Unit Ten Grammar Past modals for speculation alall Jde ¢yadil) Jlad)
Form Usage

S. > could/might-> have > V.3-> O.-> C. | past possibility 52l Yl
They could/might have been to London. (but I’'m not sure)

S. > can’tlcouldn’t=> have V.3-> O.-> C. | negative deduction about the past sl zlusy!
He can’t have left, his car’s here.
She couldn’t have revised because she failed her exams

S. > must 2 have V.3 0.5 C. positive about the past ol § sl e (ST

It must have been in January 1953 when grandpa went to Paris.

S. - may/ may not = have V.35 O.-> C. less certain about past Gty JBT 3555 Louae

You'd better take your laptop because Ali may/might not have taken his.

S. - would-> have V.3-> O.-> C. making an assumption or drawing a logical
conClUSION. ke zliiul palsss s (blAL e

He would have been well-off at that time. (assumption)
Heba would have graduated from school so she got a well-paid job. (logical conclusion)

Reduced adverbial clauses

» We can replace a full adverbial clause with a present or perfect participle. These are relatively
formal and most often used in written English:
As she walked/Walking into the press conference, she was addressed by a journalist.
Adel left his bag at home, leaving him without any money.
Adel left his bag at home, which left him without any money.

1 gSodl Ayl ARl § sl Lo BLeg s duowsy diwo (29 -pU Jad ol )lias Aoy AolS 4815 Aoz Jiwias O Sy -
» We can use a perfect participle when we want to emphasise that one action happened before
the other one. The subject of both clauses needs to be the same:
After I had finished my work, | decided to have a bath.
Having finished my work, | decided to have a bath.

Otkezl BT (3 Jeladl 095 Of ez 5391 U i oaladll a0 e ST 35 i plidl glandl Jaddl pluscis] LiSley-
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Student Book = P. 48-49 - Exercises (4-5-6-7)
4. Read these extracts from the recording and match the underlined verb forms with their

meanings a—C. -1 leslae g as g @1 Jdl o 33log umasll (po olalaziall o 1,31,
€@ The holes must have been man-made because they would fi t a right-handed musician
perfectly. B3 cpenl Ble Counlir g OLusY! g cyo 9801 095 OF by Y
a) I’'m pretty sure this was not true. oo oS0 o 14 of ¢ye uSTie U
b) It’s possible that this was true. oo 14 0555 Of oSl e
c) I’'m pretty sure this was true. o O 1in Of lola3 uSTe U
9 It can’t just have been a coincidence. Ao 350 055 Of Sy Y
a) I’'m pretty sure this was not true. Baowe oS0 o ko of e uSTe U
b) It’s possible that this was true. Voo 14 0950 0f oSawdl ¢y
¢) I’m pretty sure this was true. Groue 08 1 of labes uSTe U
@ They might have been candle holders. Foads EBlol 36 Loy
a) I’'m pretty sure this was not true. Beowo 50 o ko of e aSTe U
b) It’s possible that this was true. Braouo 1o 0550 OF oSl ¢y
¢) I’m pretty sure this was true. oo OF 1in 0f loles uSTie U

answers:1c2a3b

5. Look at the sentences from the recording. How do we form continuous and passive
forms with past modals? sa.sll Jasdl ae Jsemmall sually paiad! §)liaall i faums S a0 Jazell ) Ll

a) A wealthy person must have been planning to use it. Lol Jalass o6 6,5 Lases of b Y
b) No-one really knows what they might have been used for. s of (Sedll oo 05 S b > Coymy a1 Y
¢) | can’t have been paying attention. gl 08 0681 O Sen Y

d) They could have been used to knit the fingers on gloves.  «hilaal plol &Sl § sl 48 5 of oS
Answers: We use the modal + have been + present participle for continuous active forms.
We use the modal + have been + past participle for passive forms.

6. Study Watch Out! Then choose the best verb form to complete the sentences below.

0T Jozd! JWSY Jaddl A @3 1LY Ggckiuo (!
@ He might not have looked / have been looking where he was going when he tripped and fell.
@ This jewellery might / must have been expensive; it’s solid gold!
€@ This picture might / can’t have been painted by the same artist; the style is completely
different.
@ At that time, many children would have started / would have been started work at the age
of eight.
@ He might / must have been lying; he’s untrustworthy.
@ He can’t | mustn’t have carried out the robbery; | was with him all evening.

WATCH OUT!

We use would + a perfect infinitive (have + past participle) when we are making an
assumption about what happened in the past or drawing a logical conclusion:

There would have been much simpler and cheaper ways of knitting gloves. (assumption)
The Isle of Lewis belonged to Norway at that time, so the merchant would have been in his
own country when he lost the chess pieces. (logical conclusion)

Answers:

1) have been looking 2) would/must
3) can’t 4) would have started

5) might/may 6) can’t

43




7. Complete the text with the correct forms of the words in brackets. Then listen and check.

An amazing new discovery at Petra in Jordan L — (might/never/discover) if archaeologists
hadn’t used a satellite to study the ancient city. When archaeologists studied the photos from
the satellite, they found a large stone platform. The archaeologists also found pots on the

platform that 2 —— (would/made) in around 150 BCE, at about the same time as the
city of Petra grew up. The platform was high up and . J— (can’t/be) easy for people to
reach, although it was only a kilometre from the centre of Petra. Archaeologists don’t know
what the platform was used for, but think it L (must/ be) important because it was so
big. They think it - — (might/be) used as a kind of stage.

Answers

1) might never have been discovered
2) would have been made

3) can’t have been

4) must have been 5 might have been

Student Book - P. 51 - Exercises ( 2-3-4-5-6 )

3. Match the underlined examples of participle clauses in the text (1-3) with the participle
clauses (a—c). A1 dadl Jadl o il (pe Lo L (81 duassdl Jandl e AlteYl S
a) o Showing a sequence of events.

b) o Showing that two things happened at the same time.

c) o Showing the result of an action.

Answers: a) 3 > After reading about his life growing up in London b) 1-> wanting to know more about the
main star c) 2 - leaving me amazed

4. Complete the second sentence so that it means the same as the first.
(Gaedl s Jaaid 451 dlasell JoST
0 Because he has won several awards, the actor’s work is well-known.

(Y Lo OSSPSR )
@ As they are best friends, Asma and Dalia enjoy working together.
(BRING 1ottt )

€ The actor didn’t expect the play to be so successful, and didn’t realise it would run for
Seven seasons.

(NOT EXPECTING ..ottt e e be e s e e )

Answers

1 Having won several awards, the actor’s work is well-known.

2 Being best friends, Asma and Dalia enjoy working together.

3 Not expecting the play to be so successful, the actor didn’t realise it would run for seven seasons.

5. Study Watch Out! and rewrite the sentences, replacing the underlined section with a
participle phrase. Make any changes necessary.

1 Cameron starred in the film although found it difficult how to read.

2 Cameron has been in more than one film and appeared in a British TV programme.

3 Cameron won an award and got the best actor prize.

4 Cameron wanted to do better in life, so he learnt to act.

Answers

1 Cameron starred in the film despite finding it difficult to read.

2 Cameron has been in more than one fi Im, also appearing in a British TV programme.
3 Cameron won an award, getting the best actor prize.

4 Wanting to do better in life, Cameron learnt to act.

44




6. Combine the two sentences, using a participle clause.
@ 1 didn’t realise what time it was. | missed the train.
@ 1 lost my key. I couldn’t get in the house.

€ | had been standing for hours. | felt very tired.

@ 1 knew what had happened. I wasn’t surprised.
Answers

1 Not realising what time it was, | missed the train.

2 Having lost my key, I couldn’t get in the house.

3 Having been standing for hours, | felt very tired.
4 Knowing what had happened, I wasn’t surprised.

Work book - P. 39 - Exercises ( 1-2-3-4)

1. Find the subject of each participle clause. R-WORETPE S T RES
1) Having had guitar lessons for years, Ali amazed the class with his playing.

2) Standing in front of the painting, Hala and Faten instantly recognised it as a masterpiece.

3) Fadi added more blue paint to the mix, creating a darker shade of green.

4) Clearly impressed by the sculpture, the child stood with his mother and stared.
Answers: 2 Hala and Faten 3 Fadi 4 the child

2 . Match the two parts of the sentences. Lograns zo Jozdll Juogio o3
1) o Having done stand-up comedy for years,

2) o0 Feeling nervous about giving his presentation,

3) o The actor began to improvise,

4) o Knowing how excited Alia was,

5) o Hala joined the writing class,

6) o Having read the poem many times before,

7) 0 Not knowing how to speak German,

8) o Having never met before,

a) her father decided not to cancel the trip.

b) Hani knew the words by heart.

c¢) Fawzi knew hundreds of funny jokes.

d) never having written a story or poem in her life.

e) the musicians needed time to get to know each other.

f) Habib took deep calming breaths.

g) Ali couldn’t help with the translation.

h) having forgotten his lines.

Answers: 1) c2)f3)h4)a5)d6)b7)g8)e

3 .Complete the sentences with the adverbial clauses from the box. Gswuall e dudyall Jozell JoS|
After having had - Having forgotten - Knowing - Never having been Not wanting to
offend Thinking Wanting

1) Having forgotten to plug in my phone, | woke to find the battery dead.

2)--mmmmmmmmmmne how difficult my sister can be, | prepared myself for an argument.

3)----mmmmmmem to impress his new teacher, Imad put up his hand every time she asked a question.
4)-mmmmmmmmm e to Cairo, the twins were very excited about their upcoming trip.

) R e he was doing the right thing, he carried on.

6)---------mmmm- breakfast, they packed the car and set off on holiday.

7)-=--mmmmmmmm - anyone, she decided to keep her opinion to herself.

Answers

2 Knowing 3 Wanting 4 Never having been 5 Thinking
6 After having had 7 Not wanting to offend
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4. Replace the underlined parts with participle clauses. S Alaay Jad Lt ) ¢ Y Jal
1) Because she thought her driving lesson started at 4 p.m. instead of 5 p.m., she had to wait an
hour at the driving school.

Having thought

2) 1 had met her before, so I didn’t bother introducing myself properly.

3) Because he felt it would be a bad idea to be tired, he went to bed early the night before his
exam.

4) The little girl won the race easily, which left her parents open-mouthed.

5) After | had been to the gym, | showered and had some lunch.
Answers
2) Having met her before 3) Feeling 4) leaving 5) After having been

Work book - P. 42 - Exercises (3-4)
3. Complete the conversation with the correct form of the verbs in brackets.
A Look at the circles in the field!

B They are so perfect they 1 --------------- (can’t / make) by a farmer. Farmers don’t have the
equipment to do it.

ABut it 2 ------------------ (must / make) by a farmer! Who else would make circles in a field?
B Well, they 3 -----------=-mmom- (could / make) by a designer.

A But they still 4 -------------- (would / need) special equipment and why would a designer want
to do something like that?

B He or she 5 ------------- (might / look) for attention.

A There are a lot of easier ways to get attention. Anyway, it’s private property.

B OK, well, I’ve got another theory.

A So, who do you think did it?

B Scientists of course! A big, flat field like this 6 ---------------- (would / be) the perfect place
for them to do an experiment, don’t you think?

A Perhaps you’re right!

Answers

1 can’t have been made 2 must have been made
3 could have been made 4 would have needed
5 might have been looking 6 would be

4. Rewrite the sentences, using a participle clause.

1) After | had found a nice birthday present, | bought some wrapping paper.
Having found a nice birthday present,| bought some wrapping paper.

2) She looked at the diamond carefully and said, ‘I think it’s a fake.’

Answers
2 Looking / Having looked at the diamond carefully, she said ‘I think it’s a fake’.
3 Walking into town, she met several old friends.
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4 Having studied Mathematics, she was used to making complicated calculations.

5 Knowing the background to the situation, I understood how she felt.

6 Having watched the fi Im several times, he remembered every scene.

5 Complete the second sentence using the word in bold so that it means the same as the

first one. Use between two and five words, including the word in bold.

A L 0l sy el o b pusainl . oY) desdl gas udd Laliae 0950 Camn asyall Jasdlly dgiSell 4k plusinly 431 dhesd! JST
oyl Lasdl BgiSall Akl 3

1) After | had seen the fi Im, | decided to buy the book. HAVING
—————————————————————————————————————————————————————— , | decided to buy the book.

2) | think some medieval traders were very rich. WOULD

| think some medieval traders ----------====m-mmmmmmm oo :
3) I don’t think you were listening very closely. CAN’T

YOU ==-=nmmmmmmmmmmm e m oo oo very closely.

4) She didn’t know the city well so she got lost. KNOWING
---------------------------------------------- well, she got lost.

5) I think this artefact was probably used by farmers. MUST

| think this artefact ------------------=--- - oo - by farmers.
Answers

1 Having seen the fi Im 2 would have been very rich

3 can’t have been listening 4 Not knowing the city

5 must have been used

Lol 9 8,0 dens S e Ty 9113 9 33 Lo due dlt e
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